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1. ‘gFH 994 ORI aEEdn Gl faue g 0
(@) T ASAEE Fas TR ATFEIEE i 398 4.
(b) e I A Felterel Fel @id SHsdl 4.
() TN ITSTIEE Geamdl HA T 1000 3.
(d) N Tend TEH I IR T 1,50,000 S FIOATH HATE] R,
T yata fraer
1y (@, (b), (0) 2y (@), (b). (d) 3) (), (0) (d) @) (@ (b), (c), (d)
Consider the following statements about ‘Sukanya Samriddhi Account’ :
(@) Under the scheme account will be opened in a post office only.
(b) The Account can be opened for girl child below the age of 10.
(c) The opening amount for the account is ¥ 1000
(d) The maximum limit for deposit in the account is T 1,50,000 per year.

Choose the correct option :

1 @, ) () (2) (@) (). (d) 3 (b (0. () 4 (@ (b)) (d)

2. ‘e wifaie Sfeshrara Srfes e (sewE, Tiaay 9 gur) sfufaaw - 20167 SmeEE

TrelteTien! HvR faur e 3R 2

(1) Wi Sfesprbs = fagas gere fafungegR T 2016 181 G5 g™ AR,

(2) SIS AfEFR 7 YR =T S 791 H1Ee Tl FIUR TR ¥ 9T 9fedt 199 3
2.

(3) Wmmmwawwwmﬁawmmﬂw
T A AR,

(4) EAtH TS AE

Which one of the following statements about “Maharashtra Prohibition of People from
Social Boycott (Prevention, Prohibition and Redressal) Act-2016 is incorrect 7

{1) With reference to the social boycott the Bill passed by the Maharashtra Legislature
in April 2016.

(2) Maharashtra becomes the first state in the country to enact such a law, making
social boycott a crime,

(3) Itprovides for an imprisonment of up to three years or Rupees one lakh fine or both,
anyone found guilty.
(4) None of the above

HAT RIEIHTS IR /SPACE FOR ROUGH WORK
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3. ST 327 feawia 6065 T TG HeUarEet Welie I Sifas =EeEren
=t s a8 @ iE S e ?

(1) 493 e (2) o9 ey fog
3y fafm of@ (4) 3TE% FUAR T4

Who among the following family courtjudge has seta Guinness World Record for disposing
of 6065 cases in just 327 working days ?

(1) Sanjay Panda {2)  Tej Bahadur Singh

{3) Vipin Parikh (4) Ashok Kumar Rawat

4, G Fo e
(1) mifaes 7R Fdwie’ ZAER <N S el S,
(2) diecH SEde ¥ 2012 REA IV el e,
(3) enawrsa e feaw & 20 e At e dhen S
(4) 2017 =1 SFTRATATHER M ¥ AgHEA Tieh JuTeA1 A0 37T,
Identify the incorrect statement :
(1) “The World Happiness Index’ is published annually by the UN.
(2) First report was published in 2012.

(3) International Day of Happiness is celebrated on 20t April.

(4)  As per report of 2017, India was behind majority of SAARC nations.

FHoAT HIAEE S0 /SPACE FOR ROUGH WORK
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5. Sew e
‘N (ED) T (Eeg)
(a) 39 3= {) W HS
(b) FH= (i) Hfew STEEH
() Foefes ity T AR
@ @@ (iv) WP Afee]
Tt 3w

(@ (b) (o (d)
@ @ @ @Gv)
(2) Gv) (@) (i) ()
G O G ) @
@) vy @) @ @
Match the pairs :

‘A’ (Sports) ‘B’ {Sportsperson)
(a) High Jump (i)  Sarika Kale
(b)y Carrom (i) Sandip Devrukhkar
{¢) Gymnastics (i) Deepa Karmakar
(d) Kho Kho (iv)y Mariyappan Thangvelu

Answer Options :

)} () (o (d)
@ G @ {v)
(iv) (i) () (i)
M ) @v) (@)
(iv) ( i

—
(&3]
s -

AT THAMEIE SR /SPACE FOR ROUGH WORK
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6.  Tohcdrd Silfya FicTean FETea Iideh =7 Yeheare ' S st get’ (Sixth World Justice
Project’s Rule of Law Index’) Wewid @refta faum faamma = :

(a) WG 113 9 66 o HRIF Bl

(b) uRQ w1 3nvedl foey wewrt = @ weramen stfuw wie feadia g

(c) A FemeaET g

(d) heifsan R Iae=an I g,

FeTieh! v faum aHraT oed ?

(1) (a), (b), () (2)  (b), (o), (d) @) (a) (b) (4) (a) (d)

Consider the following statements regarding ‘Sixth World Justice Project’s Rule of Law
Index’ released recently :

(a) India ranked 66" among 113 countries.

(b) India was better than its BRICS peers China and Russia.
(c) Norway ranked No. 1.

(d) Cambodia was at the bottom of the rank.

Which of the statements given above are correct 7

(1) (a), (b). (©) (2)  (b) (). (d) (3) (a) (b) 4) (a) (d)

7. IATY FYT A

(1) YA 916 BMR ® ' 9 SR (Siase snfon fa) & - 1986 TR gR danfe
el Sd B,

(2) dE A 2016 AL ‘are FA (wfaEy it ) gEet fadas AR e
(3) o1 gewt fagas 2016 WIelt A GRIEE! S SR T 1,00,000 SSME AT SR,
(4) TR T e

Identify the incorrect statement :

(1) Child labour in India was governed by the ‘Child Labour’ (Prohibition and Regulation)
Act, 1986.

(2) The Child Labour (Prohibition and Regulation) Amendment Bill was passed by the
Parliament in July 2016.

(3) The maximum penalty for offences under Amendment Bill, 2016 is ¥ 1,00,000
(4) None of the above

AT HMATES s /SPACE FOR ROUGH WORK
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8. ‘zfam snfyen su-faunfig enfdfer wewd' (SASEC) STew @refierish! hont faum sm@rg o1me ?
) TUTAT 2001 A

) e wien a9

3) RN T3E 312

) AR ¥ 7 91 988 /96l 3T

Which one of the following statements about ‘South Asia Sub-Regional Economic

Co-operation (SASEC) is incorrect ?
(1) Set up in 2001

(2) Headquarter is at Manila
(3) Pakistan is a Member

(4)

Myanmar becomes 7th member

9. YA gaifus Wos faegimed’ qeRmeTHie Siven faesaren guEy ST e a1 ?
(a) faygi

(b) HW

() WeTR

(d) FrER

it I

(1) T (a), (b), (c) (2) W (a), (b), (d)
(3) W (a), (c), (d) (4) FH (b), (c) (d)
Which districts of Maharashtra are included in ‘Most Clean Districts of India ?’
(a) Sindhudurg

(b) Satara

(c) Solapur

(d) Kolhapur

Answer Options :

(1) Only (a), (b). () (2)  Only (a), (b), (d)
(3)  Only (a), (c), (d) (4)  Only (b), (c), (d)

THoedT HIWHEIS A /SPACE FOR ROUGH WORK
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10. 97g FeA i

(a) ‘T=AfYT o1 g S’ 91 U9 Iuyn g g fafgen.

(b)  ITITen WA AT fer v wfee TR W e,

(c)  STTUHN U AT H9 FHF TEHR W FTe.

Wf"iﬂ’ T:'-?ﬁ' :
(1) g (a), (b) (2) B (a), (0)
(3) W (b), (c) (4) 0|

Select the correct statements :

{a) ‘Sleeping on the Jupiter” is written by Anuradha Roy.
{b) Anuradha Roy won the South Asian Literature Award.
(¢) Anuradha Roy won the Man Booker Award.

Answer Options :

(1) Only (a), (b) ) Only (), (0)

(3) Only (b), (¢) (4) Al of the above

11. 2017 99 <fifay, Sisqd U wEwAE YRArg Sym=ar Afsas e [ faq  snfyend Saes
3w T 3 et 2
(1) 3T Wl ) fFw ge
(3) faw @ (4) 3T A

Name the Indian-origin woman who was named 'Asian Businesswoman of the Year’ at
an event in Birmingham, England in 2017 ?

(1) Asha Khemka {2) Kiran Khelkar

(3) Vibha Bedi (4) Aruna Chanda

el HIATHST AT /SPACE FOR ROUGH WORK
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12, 'SR N - 2017 9190 QS o) e faTeen 0 ?

(1) 3 Tb9% - Y ue ()
(2) IPE T - tmER(Wads)
(3) THE TEID - TR FE ()
(4) = FEATHH - = efEs (BRE)
Which of the following pairs about ‘Oscar Awards - 2017 is incorrectly matched ?
(1) Best Actor - Casey Affleck (moonlight)
(2) Best Actress - Emma stone (La La Land)
(3) Best Supporting Actor - Mahershala Ali (Moonlight)
(4) Best Supporting Actress - Viola Davis (Fences)
13.  Imfae Sfganed= faw st @ 1 WIS e ST
1) 15 Tfa (2) 13 O @) 179 (4) 10 T
World Homeopathy Day is observed globally on .
(1) 15 April (2) 13 April (3) 17 March (4) 10 April

14. g WEARAL' 363’ (UDAY) 59 WG] HIVATL 39 3718 7
(1) et YIS W= o7 Selerhial T A% v i Jerg ya &,
(2) TRIA TEF GUEET 2018 TG 919 YEH H0L.

(3) ISV TG Tl Fheq 1 THiTH F1g, 3Nfvash, TR FY 167 Fell FeheqiALd gfigrdd
Iy '

() s faaror smriem anfefe wefart anfir gRRiTaTaE SUEESH 9EH .

Which one of the following is a purpose of UDAY, the scheme of the Union
Government ?

(1) Providing technical and financial assistance to start-up entrepreneurs in the field of
energy.

(2) Providing electricity to every household in the country by 2018.

(3) Replacing the coal based power plants with natural gas, nuclear, solar and wind
power plants.

(4) Providing solution for financial turnaround and revival of power distribution
companies.

FoT FIUIS WA /SPACE FOR ROUGH WORK
P.T.O.
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15.

10 A
"idtEEY W qEERETE Areite faum faeEre =
(a) AT TTIA 1958 HEd ‘i ATE GrEfefeE e feiierd fw’ (CSIR) o et
(b) A FUAMMARN. T TYUTH AGHAEF 9 TGHYNT WFa €. MAEET YA 9
=AY e AT,
(c) frfirw TR snftr GigTg vz € 2016 9 Sfaw foemnde oo oma.
Ttdr Il
(1) T39A (a) #0f1 (b) S Mea 2) faum (b) 3t () IR R
(@) TauM (a), (b) &0 () TR AT (4)  waes AU (b) TV 3T
Consider the following statements about ‘Shanti Swarup Bhatnagar’ Prize :

(a) It was instituted in 1958 by the Council of Scientific and Industrial Research (CSIR).

(b) Itis given in honour of Dr. Shantt Swarup Bhatnagar founder director general of
CSIR and recipient of Padmabhushan.

{c) Rishikesh Narayanan and Surendranath Bhatlacharya are the winner of 2016 in
Biological Sciences.

Answer Options :
(1) Statements (a) and (b) are correct (2) Statements (b) and () are correct
(3) Statements (a), (b).and (c) are correct . {4) Only statement (b) is correct

16.

"R/ T I oY gRed WA R - 2017 R0 WIS e e 7

(1) e SeeT - ST

(2) ARE e - fadta

(3) e fow - gt

4) T e - we/Aiie

Who received the ‘UNESCO/Guillermo Cano World Press Freedom Prize - 2017 7
(1) Khadija Ismayilova - Azerbaijan

(2) Mazen Dartwish - Syria

(3) Ahmet Sik - Turkey
{4) Dawit [saak - Sweden/Eritrea

HOAT HIENST 9N /SPACE FOR ROUGH WORK
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17. SS9 EE
‘21" (TRER ) ‘w' (")
(a) Faw wmi @) T HAE g TeEw
(b) Ui =g () =2 felsHe
(c) Tfirar =iy (i) T YIS
d) AW TEH (v) T T 31 Wia A Fo9
Qi I

@ @® () (d
Q) G @@ @ 6
2) (v} G) (@) @
¢ © @) @ v
@ @ @ @ (v
Match the pairs :

‘A’ (Author) ‘B’ (Books)
(a) Ruchir Sharma (i)  The Turn of the Tortoise
(b) Paul Betti (i) The Great Derangement
(¢) Amitav Ghosh (iif) The Sellout
(d) T.N. Ninan (iv). The Rise and fall of Nations

Answer Options :
@ (b () (d)

1) (v) (@) () ()
2y @v) @ @) ()
@) @ () @@ ()
@ O @ @ v

18. ‘i WA foe - 2017 @ 91 e W e e,
() StemerE gEfie g U (2) wataR gEtee s
(3) vafde foamr o Tgaon (4) <HEEE gEfie
‘World Kidney Day - 2017" was observed with the theme
(1) Donate kidneys for life (2) Kidney Health for all
(3) Kidney Disease and obsity (4) Kidney’'s for life

THoedT HIHErS AT /SPACE FOR ROUGH WORK
P.T.O.
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19. el et 721 Hior, Foel Arard & wEeit SiteR stean o fhetel e ?
(1) oA et (2) T e
(3) =TS {4) TmTE
Which river became the first in the world to get same legal rights as a human being ?
(1) River Amazon (2) River Nile
(3) River Whanganui (4) River Ganga
20, 3Mefemd s 2017 o G foewg o fFa ?
(1) Tadet g /mfé i
(2) A Tifee/ v ot
() art Sifst /it f
(4) FTH FE /e W
Who has won the Australian Open 2017 Mixed Doubles title 7
(1) Leander Paes/Martina Hingis
(2) Germaine Golding/Max Mirnyi
(3) Ivan Dodig/Sania Mirza
(4) Juan Cabal/Abigail Spears
21. wifedt sAfusr sfufm 2005 T9R 99w o7dta SRadiq s Tt feamma el wemen wfest ?

(1) 30 feawm 2) 60 Teeam (3) 90 feawm (4) 45 feawm

Maximum period allowed for deciding first appeal under Right to Information Act, 2005
is:

(1) 30 days {2) 60 days (3) 90 days (4) 45 davs

el SHIFTETSE AT /SPACE FOR ROUGH WORK
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22,  Te% WIfed! STEMTH o1 04 T &1, TR o4 Wifedr AT, v arvat SROmeng Atfedt
THvgEEaar o WERTE™ T6R & aR, | @ o WieRr vEdd W Y feagrn

(1)
2
(3)
(4)

TR A AR .
TR T

TEFY T T

Y T

ST A €9

If the State Information Commission is satisfied that, the state Public Information officer,
has without any reasonable cause, refused to receive an application, he shall impose a
penalty of each day till the application is received.

(1)

one hundred rupees

(2) one hundred and fifty rupees
(3) two hundred rupees
(4) two hundred and fifty rupees
23, wifedt aifur stfufem, 2005 =41 ST ‘Mfed=n SfFER’ s8A.
(1) YRAI O kil
(2) FE A HIOFGT AR
(3) e e TERTAT i
(4) o AR

The ‘right to information’ under the Right to Information Act, 2005 is conferred upon

1)
2
)
4)

People living in India
Only to the citizens doing job
Only to officers under Central Government

All citizens

FHoAl HPEAS AT /SPACE FOR ROUGH WORK
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24.

14 A
Tifgdi=m oTfererre, o1 stfuesri=n GaEaw B,
(a) TER FM, IS, Aer@ A= qreen F,
(b) TEaUEST=n e sfiereis feqvar, 3ant fdhen wfor wet =,
(c) wmre wEifoE A o,

(d) Tetraw, vondl, v, fesiel Hde 91 TWEIE el VAR 39 SOaiF THRmEE
et

F{ehH! R R/ faus |0ET 3 ?
(1) (a) Pud (2) (a) 30T (b) e
(3) (c) 3t (d) e @) =la 9=

Right to information includes :

{a) Right to inspection of work, documents, records.

(b) taking notes, extracts or certified copies of documents or records.
{(c} taking certified samples of material.

(d) Obtaining information in the form of diskettes, floppies, tapes, video cassettes or in
any other electronic mode etc.

Which of the statement given above is/are correct ?

(1) (a) only (2) (a)and (b) only
(3) (c) and (d) only (4) All the above
25. % H&g Wifed! Mg, A (G 39 98 9nul &del o fEiemgg Jut=
HAEHEES! § 9 4R .
(1) oA (2) W= (3) =R (4) UHE

The State Chief Information Commissioner shall hold office for z term of
years from the date on which he enters upon his office.

(1) two (2) three (3) four (4) five

e wIFTESt S /SPACE FOR ROUGH WORK
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26. Read the following statements :

(@) During treatment of tetanus, the administration of tetanuvs antitoxin becomes
ineffective after 48 hrs.

(b) Tetanus toxins produced by clostridiun tetani are transmitted to brain by peripheral
nerves.

Now state whether :

(1) Both the statements are correct

(2) Both the statements are false

(3)  First statement is correct not the second
(

4)  First statement is false and second is correct

27. State which of the foﬂowing statements is incorrect for ‘vagus indigestion” in cattle ?
(1) Inappetence is observed for several days.
(2) Gradual distention on right abdomen with atony of rumen.
(3) Scanty feces and failure to respond to medical therapy.
(

4) Loss of body condition and varying degrees of dehydration.

28. Identify which of the following symptom is not of zink deficiency in farm animals ?

1) Poor growth, low food intake, rough hair coat

2]

(
(2) Testicular hypoplasia

(3) Keratinized skin on hind limbs
(4)

Congenital limb deformity

29. The following statements are clinical signs of Vestibular disease in animals. State which
of the following statement is not correct ?

) The animals affected with vestibular disease shows staggering or circling.
) Nystagmus of eye ball either vertically or horizontally is observed.

) Facial paralysis is one of the sign of vestibular disease.
)

Blindness is common finding in animals affected with Vestibular disease.

HoAT HIATEIS AT /SPACE FOR ROUGH WORK
P.T.O.
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30. Which of the following statements regarding pathogenesis of disseminated intravascular
coagulopathy (DIC) is wrong ?

(1) The augmentation of clotting mechanisms can result in depletion of platelets, factors
vV, VIII, XIIL

(2) Elevated fibrinogen levels in association with the formation of fibrin clots in
microvasculature,

(3) Tissue perfusion is decreased which leads to tissue hypoxia.

(4) Bleeding tendencies develops in affected animals.

31. Match disease with it's synonym :

(a) Necrotic rhinitis i)  Orf
(b) Infectious bovine rhinotracheitis (if) Charbone disease
(¢) Contagious ecthyma (i) Red Nose
(d) Anthrax (iv) Bull nose
Answer Options :
@ () ( (d)
(1) () (v) @ 61
(@) Gv) () (D) (i}
(3) (v) (i) (1) (D)
(4) ) () Gv) (i)
32. Tumour involves gingiva at the dental border or in interdental spaces is :
(1) Odontoma (2) Epulis
(3) Adomantinoma {4) Dental Caries

33. Consider the following statements :

(a)  Accumulation of gases exert tremendous pressure over the diaphragm and ribs in
acute bloat in small ruminants.

{(b) Hypoventilation and decreased venous return to the heart occurs in acute bloat in
small ruminants.

Now state whether :

(1) Both the statements are correct but second is not the result of the first.
(2)

(3)  Neither of the statement is correct.
(4)

Both the statements are correct and second is the result of the first.

The first statement is correct not the second.

oAl HIATATS I /SPACE FOR ROUGH WORK
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34. A state of mild degree central depression in which patient is awake but calm and free
from nervousness ?
(1) Sedation (2) Tranquilization (3) Hypnosis (4) Narcosis
35. Match the terms for defect of eye ball with its meaning (use correct codes) :
Terms Meaning
(a) Strabismus (i)  Abnormal protrusion of the globe.
{b) Buphthalmos (i) Absence of the eyeball.
(¢)  Anophthalmos (ii) Deviation of the globe from its proper axis.
(d) Exophthalmos (iv) Bulging of the eyeball due to excessive fluid in the
anterior chamber.
Answer Options :
@ (b)) (0 (d)
(1) Gv) @) @ (@)
(2) @) (v) () (@
) @ Gv) @ @
@) @) @ (v) @
36. Consider the following statements :
(@) In Buttress foot, an enlargement at the coronary band at the center of the hoof is
seen.
(b) New bone growth due to healing of fracture or periostitis of the extensor process
occurs in Buttress foot.
Now state whether :
(1) Neither of the statements are correct.
(2) The first statemnent is correct not the second.
{3) Both the statements are correct but the second is not the correct explanation of the
first.
(4) Both the statements are correct and second is the correct explanation of the first.
37. The agent that used to reduce salivation and bronchial secretions in dogs is :

(1) Triflupromazine HCI {2) o, adrenoceptor agonists
(3) Anticholinergic {(4) Neuroleptanalgesic

THoeAT TTHTETSE ST /SPACE FOR ROUGH WORK
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38. The most common site for obstruction of urinary calculi in cattle is :
(1) Distal to sigmoid flexure (2) Neck of bladder
(3)  Urinary bladder {4)  Urethral process

39. Frozen semen straws are maintained in liquid nitrogen containers at what temperature ?

() -=72°C (2) -—196 °F (3) —-72°F (4) —196°C

40. The fremitus can first be felt in cattle from :
(1) 30 to 60 days of pregnancy (2) 80 to 120 days of pregnancy
(3) 180 to 190 days of pregnancy {4) 210 to 220 days of pregnancy

41. Dystokia due to failure of cervix to dilate in ewes is known as :
(1) Digit womb (2) Ring womb
{3) Tight womb {4) Narrow womb

42. Which of the following testicular pathology is not due to congenital or hereditary

causes ?
(1)  Testicular hypoplasia (2) Testicular degeneration
{3)  Cryptorchidism {4) None of above

43. To relieve uterine torsion buffalo is rolled in which direction ?
(1) same direction of torsion {2) opposite direction of tarsion

(3) backward direction (4) forward direction

44. Pyometra in cattle is characterised by :
(a) Accumulation of pus in uterus
{b) Retained corpus luteum
{c) Perrectally thickened ulerine wall
Answer Options :
(1) ({(a) and (b) are correct {2) (a) and (c) are correct

{3) (b) and {c) are correct {(4) All are correct

oA BTG SR /SPACE FOR ROUGH WORK
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45. Luteal cysts in cows are :

(a) an ovulatory follicles over 2-5 cm in diameter which are partially Luteinized
(b) softer and thick walled

() characterized by nymphomania

Answer Options :

(1) (a) and () are correct (2) (b) and (c) are correct

(3) (a) and (b) are correct (4) none are correct
46. Babesiosis produces:

(1) Hemolytic jaundice (2) Toxic jaundice

(3) Obstructive jaundice (4) Idiopathic jaundice

47. Wooden tongue is caused by :
(1)  Actinobacillus (2) Actinomyces
(3) Botriomyces (4) = Mycoplasma

48. Venereal transmission leading to abortion occurs in which of the following protozoan
infection/infections ?

(1) Bovine Tritrichomonosis (2) Ovine Toxoplasmosis

(3) Canine Neosporosis (4) All of the above

49. Control of three host tick is difficult than that of one host tick because :

(a) Life - cycle of three host tick involves three different animals Harbouring different
stages viz. larvae, nymphs and aduits

(b) Both the moults in the life-cycle of one host tick occur on the ground

() Both the moults in the life-cycle of three host tick occur on the ground

(d) One host tick has less biotic potential than that of three host tick

Which of the statements given above is/are correct ?

1) @and() () @and© () (J)only (4) (d) only
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50. Name the test described below :
(a) Mixing of soluble antigen with strong antiserum (reactants)
{by The mixture becomes cleudy and flocculent

{c} The reactants are in optimal proportions such that the lattice formed becomes
insoluble.

Now choose the correct answer :
(1) Agglutination (2) Neutralization
(3) Precipitation (4) Passive agglulination

51. Name the element from the following description :
(a) Extra chromosomal genetic elements often found in bacteria.
(b)  They are circular pieces of DNA
(c) They confer resistance to a number of antibiotics
(d) Iransferred to other cells by conjugation
Choose the correct answer :
(1) R DPlasmids {2) Episomes (3) F plasmids (4) Bacteriocins

52.  Which of the following Brucella species is the inain etiological agent of Brucellosis in sheep
and goals and is also the main agent responsible for human brucellosis ?

(1)  Brucella abortees (2)  Brucella ovis

(3)  Brucella suis (4)  Brucella melitensis

53. Name the drug described below :
(a) Itis a catecholamine
(b} It is useful in providing immediate relief from bronchial asthama
{(c) It is useful in treating hypotension associated with anaplylactic shock
{d) Itis indicated in treatment of cardiac arrest
Answer Options :
(1) Dopamine (2) Noradrenaline
(3) Adrenaline (4) Isoproterenol
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54. Match the drugs with their mechanisms of action :

Drugs Mechanism of action
(a) Phenylephrine (i)  Alpha 2 receptor antagonist
(b) Yohimbine (ii) Beta 2 receptor agonist
{c) Clenbuterol (iii} Beta 1 receptor antagonist
{d) Metoprolol (iv) Alpha 1 receptor agonist

Answer Options :

(@ (b)) (o (d)
@ @ @ @) (@
@ vy @ () (i)
3 Gy (@v) (1) (i)
@) @) @ (Gv) (@

55. Which of the following sulfonamides is/are used for the topical effect 7
(a) Silver sulfadiazine
{b) Mafenide
(c) Sulfadoxine
(d) Sulfacetamide
Answer Options :
(1) (a) (b) and (d) 2) (@) (9 and (d)
(3 (2 () and (9 (4) (d)only

56. Consider following statements :

(a) Compared with mammalian and avian species the half-lives of antimicrobials in
fish and reptiles are prolonged.

(b} In poikilothermic species. half-life of antimicrobial relates to the lower metabolic
turnover rate.

Answer Options :

(1) Both the statements are correct and second is the correct explanation of the first
(2) Neither of the statements is correct

(3) Both the statements are correct but second is not the correct explanation for the first

{4) The first staternent is correct, not the second
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57. Cyanide poisoning is often observed in livestock. What is not true about it ?
{1) It occurs in acute and peracute form.

(2)  The most frequent cause of poisoning is ingestion of plants containing cyanogenetic
glycosides.

{3) The treatment comprises sodium nitrite in distilled water i.v. 20 mg/kg followed by
sodium thiosulphate 20% iv. at 500 mg/kg.

{4) It affects oxygen carrying capacity of blood and blood is cherry red coloured.

58. Among the following is the anti-oxidant permitted in India to add in the milk products in

India :
(1) Nordihydroguiaretic acid {2) Bulylated Hydroxy Anisole
(3) Ethyl gallate (4) Hydroquinone

59. Maich the pairs of milk with these method of preparation/obtained :

(a) Sterilized ﬂk (i) + Obtained by employing sejected micro-organism to
develop the flavour body and texture

(b} Homogefﬁzed milk (i) Milk prepared by dispersion of whole milk powder in
water

(c) Fermented milk (iii) Obtained by subdivision of fat globules
(d) Rehydrated milk (iv) Obtained by heating milk to 100°C and above
Answer Options :
(@ (B (o (d)
1 @ @ @) (v
(2) @i (i) (v} @)
3y (v) @) @ @)
(#) @ @ @ (@v)
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60. Butter is generally made from the cream by chuming, it contains 80% fat, following are
the most important specific requirement of the product manufacture.

(a) Off flavour produced by lipolysis s/b avoided.
(b) Too low pH (—4.6) is not good for the product.

(c) Spredability and firmness depends strongly on the composition of fat and on the
temperature.

(d) Yield of butter does not depend on the water contents of the butter milk.
Answer Options :

(1) (a)and (b) only (2) (b)and (c)only (3) (a)and (d) only (4) All the above

61. Donora (Pennsylvania) is associated with :
(1) More than 40% population is ill because of intense fog
(2) Blanket of thick fog for about 5 days
(3) Oxides of sulphur and soot
(4) Repeated bout of air pollution disasters causing smog disasters

62. A Collection of living organism in a biotope is called as :
(1) Biotic community (2) Biocenosis
(3) Large biolenosis (4) All of above

63. The concentration of CO, gas and period of exposure used for making pigs unconcious
prior to slaughter :

(1) 70% CO, and 60 seconds (2)  65% CO; and 40 secends
(3) 80% CO, and 45 seconds (4) 70% CO, and 45 seconds

64. Following tests used for detection of certain quality parameters in liquid milk sampies :

List - T - Tests List- IT - Parameters

(a}  Alcohol - alizuvin test (i)  Fat content
(b) Gerber test (@)  Acidity
(¢) Rosalic acid test (iti) Cleanliness
(d) Sediment test (iv) Neutralizers
Answer Options :

@ () () (d)
(1) @) @) @ @)
(2 @ @ (v) (i)
@y v (@ @ (i)
(4) @) @ @ @)
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Match the organisms causes abnormal changes in stored meat and meat products :
List - 1 Abnormal Changes List - 2 Organisms

(a) DBone taint

(b) Whisker’s

(c) White spot

(d) Black spot

i)y  Sporotrichum carnis

1)  Cladosporium herbarum
tit)  Cl. putrefaciens

iv) Thamnidium

Answer Options :

(@ (b} () (d)

1) (@ () (@v) ()
(2) @ @) @ (W
(3 (v} (@) G ()
@) @ @ (v) (@
66. Os penis is present in .
(1) Ox (2) Boar (3) Dog (4) Horse
67. In pig, ligamentum nuchae is represented by :
(1) By a small fibrous band which extend from axis to thoracic spine
(2) By fibrous tssue by funicular and lamellar part
(3) By a fibrous raphe and thin layer of elastic tissue which extend between cervical
spine
(4) By a powerful elastic apparatus extend from occipital bone to withers
68. Corneoscleral junction is also called as :
(1) Tapetum lucidum (2) Ora serrata
(3) Ora ciliaris retinae (4) Limbus
69. The process of transformation of spermatids into spermatozoa is called as

(1) Spermatogenesis (2) Spermiogenesis

(3) Gametogenesis (4) Spermato cytogenesis
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70. The vein formed by the union of Anterior and posterior mesenteric veins and splenic vein
is:
(1) Phrenic vein (2) Portal vein
{3) Hemiazygous vein (4) Saphenous vein
71. Identify the group of nitrogenous bases (all three) that are found is both RNA and DNA,
(1) Cytosine, Thymine, Adenine (2) Cytosine, Uracil, Adenine
(3) Cytosine, Adenine, Guanine (4) Cytosine, Thymine, Uracil
72. ldentify the group of amino acids (all three) that is both glycogenic as well as ketogenic :
(1) Alanine, L-leucine, Iso-leucine  (2) l-leucine, Tyrosine, Glutamine
(3) Glycine, L-leucine, Histidine {4) Iso-leucine, Lysine, Phenylalanine
73. Most sensitive test for detection of sugar in urine is :
(1) Rothera’s test (2) Benedict’s test
(3) Barfoed test (4) Hay's sulpher test
74. Which among the following hormones derived from amino acid/amine derivatives ?
(1) Thyroxine : (2)  Insulin
(3) Progesterone (4) Growth hormone
75. Which among the following condition caused by the deficiency of vitamin ‘E’ in the diet of
animals ?
(1) Scurvy (2) Osteomalacia (3) Sterility (4) Pellagra
76. Which one of the following Information Communication Technology (ICT) project carried
by National Informatics Centre (NIC) on behalf of central Govt. and Government of
Maharashtra and NGO ?
(1) Gokul wired village project (2) Katraj wired village project
(3} Koyna wired village project (4) Warna wired village project
77. A projector which projects the image over the head of an instructor is called as :

(1) Slide projector (2) Overhead projector
(3) Opaquae projector (4) L.C.D. projector
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78. Which one of the following printing material is used in a single sheet of papers to present
information on only one topic in a concise manner and simple language ?

(1) Leaflet (2) Folder (3) Pamplet {4)  Bulletein

79. Evaluation of progress is classified as extension programme planning process as like :
(1) programme planning (2) programme action

(3) programme assimilation (4) programme acculturation

80, In which type of graph a circle is divided into segments to indicate different parts of a
whole ?

(1) Bar graph (2) Area graph (3) Line graph (4) Pie graph

81. In the extension administration, the scope of administration can be expressed in terms of
the functioned elements indicated by the letters of the word POSDCORSB, in this word 'S
stand for :

(1) Satisfaction (2) Staffing (3) Self-reliance (4) Self-help

82. Match the goat breeds with their habitat :

List - A (Goat breed) List - B (Habitat)
(a) Sirohi (i) Surat
(b) Berairi () Puri
(c) Surt (i) Nagpur, Wardha

(d) Ganjam (iv) Rajasthan, Cujrat

Answer options :

(@) (b) () (d)

1 O @ @ )

(2) @) @ @ @
’

(3) Gv) (@) @)
@) () @v) O i)
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83. Match the dipping solution for sheep with their concentration :

List - A (Dipping solution) List - B (Concentration)
(a) Lindane dip () 0.5%
(b) Pyrethrin (i) 0.1%
(c) Nicotine and tobacco (i) 0.31%
(d) DDT (iv) 0.2%

Answer options :

@ @® @ (@

(1) () @) @ @

@ O @ @ (@)
(3 @) @) @ (i)
@ v) ) @w) (@

84. Indicate which are the characteristics of good layer :
(@) Thin, Pliable and well spread pﬁbic bones
(b)  Yellow coloured beak
(c) Large,Oval, smooth and moist-vent
(d) Soft and loose skin
Answer options :
(1) (b, (c) and (d) (2)  (a) and ()
(3) (), () and (d) (4) (b) and (d)

85. Consider the statements given below :

(a) Energy Intake, thereby feed consumption reduces as environmental temperature
Increases.

(b)  Birds need less energy when ambjent temperature is high.

Answer options :

{1) Both the statements are incorrect.

(2) Both the statements are correct but second is not the correct explanation of first,
(3) First statement is correct but second statement is incorrect.

(4) Both the statements are correct and second is the correct explanation of first.
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86. Goat is mullipurpose animal. What 1s not true about goat 7
(1) Goat gives more production per unit inveslment.
(2) Goat is small size and younger slaughier age.
(3)  Milk is not suitable for preparing milk products.

(4) Goat suffers less from ailments than do large animals.

87. Which of the following is not a prebiolic used in poultry diets ?
(a)  Fructo - oligosaccharides
(b) Inulins
() Lactobacillus strains
(d) Lactosucrose
Answer options :

(1) ()and(@d  (2) Only (d) () @and(© (4 Only ()

88. Match different parts of oviduct with the function it serves in the process of egg formation
in chickens.

(@) lsthemus ()  Deposition of shell

(b) Uterus (i) Formation of shell membrane
() Infundibulum {iii) = Secrehon of albumen

(d) Magnum (iv) Site of fertilization

Answer options :

(@) (b) (o) (d)

(H @ @) () (iv)
@ @ @O (v (i)
@) ) @ @ ()
@) () (@) @ @

89. Response to selection is the difference between mean phenotypic value of :

(1) Offsprings and selected parents

{(2) Offsprings of selected parents and parental population before selection
(3) Sire and dam
(4) Selected parents and base population before selection
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90. Breeding system by which a few purebred sires can rather quickly transform a non-descript
population into the purebred called :
(1) Cross breeding (2} Grading up
(3) Back crossing (4)  Criss crossing
91. The outcrossing within a herd by use of selected sire is called :
(1) Upgrading (2) Line breeding
(3) Selective breeding (4)  Back crossing
92, The most reliable and powerful Selection Index than conventional selection index for sire
evaluation is :
(1) Total score method
(2) Maximum likehood
(3) BLUP (Best Linear Unbiased Prediction)
(4) BLUE
93. Sunandini is a synthetic cattle breed developed by crossing :
(1) Red Sindhi X Non-descript cattle {Kerla)
(2) Sahiwal X H.F.
(3) Tharparkar X Jersey
(4) Brown Swiss X Non-descript cattle (Kerla)
94. Method is used for selection when several traits are considered simultaneously :
(1) Individual selection (2  Independent culling level
(3) Selection Index (4) Tandom selection
95. Identify the chelate which interfere with utilization of essential cations :

(a) Ethylenediaminetetra acetic acid

(b) Cytochrome enzyme

(c) Haemoglobin

(d) Oxalic acid calcium

Answer options :

(1) (a) only (2) (b)and (o) (3) () and (d) (4) (d)only
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96. Highly soluble minerals to maintain osmotic pressure, acid base equilibrium and water
metabolism are :

(1) Sodium and potassium
(2) Potassium and chlorine
(3) Sodium, potassium and chlorine

(4) None of above

97. Match the disease caused by mineral deficiency {use correct codes) :

List - I List - II
(Diseases) (Minerals)
(a) Normochromic anaemia (i) Manganese
{(b) Alkali disease (i) Magnesium
() Grass staggers (1) Copper
(d) Bone abnormalities (iv) Selenium

Answer options :

@ () (J.  (d)
(1) ) - 6) © @ av)
2) @ @ @) ()
(3) @) ) G @
@) O (@) @v) a6

98. Which are noncaloric functions of fat ?
(a) Protects the internal organs from shock or injury
(b) Helps in absorption of carotene and the fat soluble vitamins
(¢) Source of metabolic water
(d) Serves as an insulation material

Answer gptions :

(1) () only (2) (c) only (3) (b) and (c) 4)  All above
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99. Tryptophan cannot be converted to niacin in :
(a) Cats (b) Chickens (c) Ducks (d) Pigs
Answer options :

(1) (a) only 2 (and(@  (3) ©and(d) (4 (donly

100. Match the pairs between A and B :

(A) (B}
(a) Vitamin ‘A’ (1)  «a-Tocopherol
(b) Vitamin ‘K’ (i) Menadione
{c) Vitamin ‘D’ (i) Carotene
(d) Vitamin ‘E’ {iv) Ergocalciferol and cholecalciferol

Answer options :

(@ (b) (o ()
B v G @ @)
) ) @) (V) ()
) O @) @ )
) (@ @) () (@)

——
w N

-olo-
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1. e =iy T T g feg 9 Iefisq are sea qfidt wfsa wwam aneft d Y, N
A HIV EA ? .
(1) —raeis T T (2) et g fasn
(3) =amrdiw 3fa wh (4) =Y .U 9w
Who was the chairman of the committee constituted to probe the sexual harassment
case against the Chief Justice Ranjan Gogoi ?
(1) Justice N.V. Raman (2) Justice Deepak Mishra
(3) Justice Indira Banerjee (4) Justice S.A. Bobde
2, miftes uhie T oW 3 vl see Smdia wat swEeeht s, 2019 Te SO A
grfter 3mad, 3TN i S HIvRET IR ?
F g AR T gjm%[ FaT
F. AU B 3. TEEEnit
gt IW
(1) a3, § o & o (2) & ¥, W AME
(3) wEd 3, HAMIE (4) % €, H A S
Which are the three people, who are listed in ‘The Most Influential People of the
World, 2019’, published by American Magazine ‘The Time’ ?
a. Narendra Modi b. Mukesh Ambani
¢.  Arundhati Katju d. Menaka Guruswami
Answer options : ‘
(1) Onlya,bande (2) Onlya,bandd
(3) Onlya,candd (4) Onlyb,candd
3. AU WG ATl T TIR HIOT SFET Gieierish! v FHHIENET 20 B0 T8 ?
(1) = (2) _gr=el (8). graET (4) fomm
Out of the following, which will be the expected ranking of India in the world, in
establishing space station in space ?
(1) 4t (2) 5t (3 7th (4) 38m
4, T A gl

(1) <gaE-2 I V&0 G g IS Hg, ﬁgﬁ@aﬁwwm

(2) wreft, 3R Hgae-2 Sid WrmEea e Foas s 1. 2007 99 e
T FTEA U hell Bl

(3) wgaM-2 INffdetal Jem a1 I, Fgen VSEOm e omil oA qEuEIE A

(4) <gAA-2 =M faww olewh v g Rfvd s oo, &, e o
qLE 9, 2019 T e,

Select the incorrect statement.

(1) Chandrayan-2 was launched from the Satish Dhawan Space Centre in
Sriharikota.

(2) Initially, ISRO planned to partner with Russia to perform Chandrayan-2. The
two agencies signed an agreement in 2007.

(3) The goal of the Chandrayan-2 orbiter was to circle the moon and provide
information about its surface.

(4) On September 9, 2019 K. Sivan, the director of ISRO, confirmed that
communication had been lost with Chandrayan-2 Vikram lander.
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5. HTPT FI7 AT,

(1) fad Y @=s R MEem @af 2019 79 RITeTR 4 GE=1 FAHET SR 9T
T,

(2) =0 g MEeE WUl 2019 Feil WEHIET UHaa gat T W 3.

(3) w@=S WRd Uil TAEW 2016 Wt U¥H e 35T 10 Reame wEwe wE
foreg f.

(4) =S vRd Tayw 2016 wed faggien wrande e fegr wifva @ s

Select the incorrect statement.

(1) Kolhapur has won second prize in the All India Swachh Sundar Shouchalaya
Contest in 2019.

(2) Maharashtra attained overall second position in the Swachh Sundar
Shouchalaya Contest in 2019.

(3) Maharashtra’s five districts were among the best 10 districts nationally under
Swachh Bharat Gramin Survey in 2016.

(4) Sindhudurg was adjudged the best district in India under Swachh Bharat
Survey in 2016.

6. MW =M R TS Fld. O YiaEd EEEs Bt [EEhRH Saig HugT
YU AR, A H G 187 2
(1) &1 1994 99 qgasft 3 qeaiie U e
(2) TFT 2001 Y&t TEANEU ¥ HUTHE oA AT,
(3) &1 2015 UL YEHIGTO 3 GG 0T AT,
(4) q Tz fmia it wvamre g1 oTR.

Amitabh Bachchan were recently in news. He will be honoured with the prestigious
Dadasaheb Phalke Award. Which is not true about him ?

(1) He was honoured with Padma Shri in 1994.

(2) He was honoured with Padma Bhushan in 2001.

(3) He was honoured with Padma Vibhushan in 2015.

(4) He is a film producer and playback singer also.

7. ‘rTSiE gegH & [RUNEEIDGRE: IFS
(1) FARRS WA (2) g A
(3) wimeRiN (4) fee
‘Umbrella Movement’ is related to country.
(1) United States (2) United Kingdom
(3) Hong Kong (4) Sweden
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g (79)
ii.
1ii.
v,

e wem

Match the pairs (Newly appointed Governors) :

‘A’ (Name)
Kalraj Mishra
Bandaru Dattatreya
Arif Mohammed Khan
Tamilisai Soundararajan
Answer options:
a b
ii

a.
b. 1i.
c. iil.
d. iv.
d

iii

i

ii

c
(1)
(2)
(3)
(4)

1ii
i

v
iii
i

i ii

‘B’ (State)
Telangana

Kerala

Himachal Pradesh
Rajasthan

wiet e o wiR Uy e R 2
H#. A= yEe :

¥, ‘g HiER

% ‘gamt

. ‘IIMSM FaET — Hel HEr
it I

(1) e 31, 9 anf &%

(3) FH W, FAME

B A, & AW §
B H, T 0TS

@
@

Which books are written by Father Dibrito ?

a. ‘Tejachi Pavale’

b.  ‘Srijanacha Mohor’

c. ‘Suvarta’

d. ‘Anandache Antrang — Mother Ter

Answer options:
(1) Onlya bandc
(3) Onlyb,candd

esa’

(2)
(4)

Only a,band d
Only a, cand d
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10. @reha faam e o
A, 2019 ¥ vl a1 doewEm™ Aea niafys g0 anfes 9 s e sreagrh

fresfaat.

9. wide stfadfiorea wTet wiaet sieEd wen giiurg e 9nfie w9 9, €
fg w87 w0, WOEEEE INF JENEN @SS qal WPl SrREevEETSt e
uifiifie uama ST,

. faferm S Sem, sy @ fefow oo sm,

TG B FoT IR IR ?

(1) o N (2) R (3). ®HF (4) sl T

Consider the following statements :

a. Two American and a British scientist won the 2019 Nobel prize for physiology
or medicine.

b. The Nobel prize was awarded for discovering how the body’s cells sense and
react to oxygen levels, work that has paved the way for new strategies to fight
cancer, anaemia and other diseases.

c. William G, Kaelin Junior is a British scientist.
Which of the above statements is incorrect ?

(1) Onlya (2) Onlyb- (3) Omnlyc (4) None of the above

11. & SIAGNeH § S0 SR 8. a1 ) A7ET ?
(1) q Y g TR i E9 g
(2) A FhAm wEIvw % e I G B,
(3) @M1 1970 =¥ U T GHIIE AT 1A
(4) TIAT 2005 A YZAYEU] § GG HOAE AT
Dr. Kolathur Gopalan was recently in news. Which is not true about him ?
(1) He was the first director of National Institute of Nutrition.
(2) He was a founder of ‘Nutrition Foundation of India’.
(3} He was honoured with Padma Shri in 1970.

(4) He was honoured with Padma Bhushan in 2005.
mmﬁ’r ST / SPACE FOR ROUGH WORK
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12.  Jh FEA e,
A, 2019 HEA ARG ATEH FEHNEET Tl a0 = THIeHT 0 3,
. 2018@me%mémmmméﬁ
et I
(1) ®& A (2) BT
(3). ¥ nfr & gFA (4) 3 onfr 9 A T
Select the correct statement/s.
a. ‘Gully Boy is nominated for Oscar Awards from India in 2019. .
b. “Village Rockstars’ was nominated for Oscar Awards from India in 2018.
Answer options :
(1) Onlya (2) Onlyb
(3) Bothaandb (4) Neitheranorb
13. g eETET SHRUE SR SR SIS 8. T S 0y fordiel st ?
A, T AR ToE-FHAMET
9. ‘Tewilea siid
F. T d0E I A AE A
3. % femrds g o
qoiE I '
(1) %F &, 9= (2) T, H AN
(3) ad A, € A B (4) o 3, & AT
The famous social scientist Immanuel Wallerstein was recently in news. Which
books are written by him ?
a. ‘The Capitalist World-Economy’
b. ‘Historical Capitalism’
c. ‘The World is Out of Joint’
d. ‘The Face Behind the Mask’
Answer options:
(1) Onlya,bande ‘ (2) Onlyb,candd
(3) Onlya,bandd (4) Onlya,candd
14.  IhF FA AaE.
3. - . gnft wnn Feree foemdie ged 39 TR A o,
9.  ugl fafYy feedie amgy, simere anfor e 3% g% @ o,
it I
(1) wH A (2) W (3) AT (@) ol T TR
Select the correct statement/s. w
a. Dr. Homi Bhabha Cluster University has been established in Mumbai.
b.  National Law University will be opened in Nagpur, Aurangabad and Mumbai.
Answer options : L -
(1) Onlya (2) Onlyb (3) Bothaandb (4) Neitheranorb
FoTT FHTATS TR / SPACE FOR ROUGH WORK P.T.O.
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15. wifEet e srfafrm, 2005 Fata ‘adae wiiteor am=n ard =1 3"
T faior Sherel TfereRor,
. AT wfuEER TR e
¥,  HdrE 9 39 IEeEH W1 Fdd
%. FHY GOR Hed! HIVcATE! e FREER
T, vAuuH A sremngan faffa
et o foumA Fwar TR 2
(1) weod 3 T 9 SR eTRd (2) e o SIS TR
(3) o I M F S 2 (4) TE U R4

Under the Right to Information Act, 2005, ‘Public Authority’ means any authority
which is constituted

a. By or under the Indian Constitution.

b. By order of the Supreme Court or High Court.

c. By any other law made by the Parliament.

d. By order of the Prime Minister.

- Which of the above statement/s is/are correct ?

(1) Only a and b are correct (2) Only cis correct
(3) Only a and c are correct (4) All are correct

16. mg@mﬁmmmmﬁmﬁgﬁﬁ TSI, @iefiel sgardiat Hegd

(1) ed A N § SO 3TRE (2) Wad &, % I g SUST ARG
(3) ad A M1 T S ITRE (4) =0« g4 qqig It AR

The State Chief Information Commissioner and the State Information
Commissioners shall be appointed by the Governor on the recommendation of a
committee consisting of

a, The Chief Minister and Leader of Opposﬂ:lon in Legislative Assembly.

b.  The Chief Justice of High Court.

¢.  The Chief Minister and Central Information Commissioner.

d. A Cabinet Minister to be nominated by the Chief Minister.

Answer options : ;

(1) Only a and b are correct (2) Only b, ¢ and d are correct
(3) Only a and d are correct {4) All are correct
ST HHTETS! STFT / SPACE FOR ROUGH WORK
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17. T ed Aiiedl sngearea TerEdt 9 daear vl deefia
. el T G et STRRITST hresTa) I Fie ST,
q. TS U9 HET i ST HieSIaet Hg1 Iuran IrEal.
%, U9 qET Hifed T 7 AiHgETE I F9ar.
T, TS N iR SN 39 & Frerevh s s,
FAth v forae Feiay oM ?
(1) %ad 9, $ M & FUN 2084 (2) %I § 7MY S SUK AT_d
(3) waa @ for % SO oRa (4) o 3, H MU & K R
The provision relating to term of office and condltlons of service for the Chief State
Information Commissioner are
a. Every State Chief Information Commissioner shall hold office for a term of
five years.- .
b. Every State Chief Information Commissioner shall hold office for a term of
six years.
' c. Sta’{e Chief Information Commissioner shall not be eligible for reappointment.
d. The salaries of State Chief Information Commissioner shall be same as that of
an Election Commissioner,
Which of the above statements are correct ?
(1) Onlyb, c and d are correct (2) Onlyb and d are correct
(3) Onlyb and ¢ are correct (4) Only a, ¢ and d are correct
18,  wifgdten IR aRfwdie Fem 11(2) JHR SR 99 Jnedt ifterrarsga forar wenfesrdt
9 4 Mgt Tfmer=mehgd hivrerdl arfgdi=an fohar stficrarean fan =r=an wrmr=an wewa
T (1) a3 FITY THTER Y TTavaTd el T8 I Siedid, ¥t g Hesearen
LRIERRIC feamr=ar i, weafaq mfedt were, Stvarfawh fae Foarh ey
waTE Hefi JUET A, -
(1) 10 (2) 15 (3) 30 .(4) 45
According to Section 11(2) of Right to Information Act, where a notice is served by
the Central Public Information Officer or State Public Information Officer, as the
case may be, under Sub-section (1) to a third party in respect of any information -or
record or part thereof, the third party shall within days from the date of
receipt of such notice, be given the opportunity to make representation against the
proposed disclosure.
(1) 10 (2) 15 (3) 30 (4) 45
19. <1 HEE AT wem 7o dewem (1) e dewan (3) W @ (1) W ity See
| dad fvfa s g e b Tt hdm s mfedt st foher wew o At
st Frean fofar Sft SafdE wetelt ordd, ST RiocarEl st femgr=n
I arfte wear A, |
(1) 60 (2) 90 3) 30 (4) 15
Any person who does not receive a decision within time specified in Sub-section (1)
or clause (a) of Sub-section (3) of Section 7, or is aggrieved by a decision of the
Central Public Information Officer or State Public Information Officer as the case
may be within days makes an appeal.
(1) 60 (2) 90 (3) 30 4) 15
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WRARII SO e T, 1, 2019 78 150 7 AR qoAr=t e Fhal dgsat a1 A
g Ao ?
(1) ufvem o (2) T W
(3) wf@mm (4) fomm

In which State of India, in June, 2019 more than 150 children died of Chamki or
brain fever ?

(1) West Bengal (2) Uttar Pradesh
(3) Haryana (4) Bihar

21.

17 =0 SrRaRel FasuEhiuTe GeieTie! ST HagR FuTd f <oaTd JagH SuaTd e ?
(1) R (2) afearen

(3) WHFER (4) M

In which of the following constituency polling was conducted in three phases for the
election of 17t Lok Sabha ?

(1) Srinagar (2) Patiala
(3) Coimbatore (4) Anantnag

22.

W TR Hg U, 2019 79 Gielicrishl S 97 sere el e 9 ?
(1) e A% LT, T FI 5oh, BT g

(2) o S S, 31 S, A I

@) faorn de, do oA TG, T S

(4) % AT g, oo §6, A @

Which of the following three banks were merged in April, 2019 by the Government of

India ?

(1) Bank of Baroda, Punjab National Bank, Canara Bank
(2) Punjab National Bank, Dena Bank, Saraswat Bank
(3) Vijaya Bank, Bank of Mysore, Andhra Bank

(4) Bank of Baroda, Vijaya Bank, Dena Bank
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T, ifsa ufEken fhar TREEEN THER TS Hedd TaATT 3eh HANET ARRR drefare
%. difeq nfgersh o] Yehearfiem, Thme TRTR Y SHa 39 AU ATE.

T, B HeRy wa uiRmeda v ude.

agidt I .
(1) %Fd H AT (2) SFHASAE
(3) W A, § AMN F (4) F, s

‘Talaq-e-biddat’ 2018 regarding Muslim women is a pumshable crime in which of the

following are included ?

a. ‘Talaq-e-biddat’ is a punishable crime in which the culprit will be imprisoned
for three years. ‘ ‘

b. If the victim woman or her relatives lodge complaint against the crime, the
police have rights to arrest the culprit husband of the victim woman.

c. The magistrate cannot sanction bail to the culprit’s husband without hearing of
the victim woman.

d. The petition will be effective for six months.

Answer options :
(1) Onlyaandb : (2) Onlycandd
(3) Onlya,bandec : (4) a,b,eandd
24, Wmmmwwmm 2018’ 3 TG oA aﬂﬁ?
(1) fome et (2) eyl
(3) @i TR . (4) wds fEg uFht

Which of the following cricketers was honoured with ‘Rajiv Gandhi Khel Ratna
“Award, 2018 ?

(1) Virat Kohli {2) Rohit Sharma

(3) Jaspreet Bumrah (4) Mahendra Singh Dhoni

25, 2019:@W(FIFA)wm&uﬁmwwﬁagmééqﬁawnam
HIVT AT ?

(1) o weet (2) SFed WHA

(3) Tfa A & (4) e fossa

Who is the first Indian to be selected as a member, executive committee of ‘FIFA’ in
2019 ?

(1) Arun Jaitley (2) Praful Patel

(3) Rajiv Pratap Rudy (4) Kapil Sibal

FoeT FTITATS! SR / SPACE FOR ROUGH WORK P.T.O.



V13

12

26. Arrange the following phases of oestrus cycle in cow sequentially and select the
correct sequence :
a. Metestrus b. Estrus
c. Diestrus d. Proestrus
Answer options:
(1) d,ba,c (2) d,a,b,c
(3) b,d,c,a (4 d,e,b,a
27.  Which of the following statements are correct in case of pyometra in cow ?
a. It is characterised by a progressive accumulation of pus in the uterus.
b. It is usually accompanied with corpus luteum on the ovary.
¢.  The uterus has more doughy and less vibrant feel.
d. Injection progesterone is the best treatment for pyometra.
Answer options:
(1) Onlya,bandd (2) Onlya,bandc
(3) Onlya,candd (4) a,b,candd
28. The temperature of the Artificial Vagina is more important than the pressure it
exerts on the penis in
a. Bull b. Horse
c. Ram d. None of the above
Answer options :
(1) Onlyb (2) Onlybande
(3) Onlyd {4) Onlyaand ¢
29. What is the common sign of vibriosis infection ?
a. Pyometra
b.  Abortion during first trimester of pregnancy
c. Early embryonic deaths
d. Occasional abortions from 4 months of pregnancy to term
Answer options:
(1) Onlyaandb (2) Onlycandd
(3} Onlya (4) None of the above
30. For early pregnancy diagnosis by transrectal ultrasonography in cows

a. Linear probe is preferred

b. 7-5 MHz frequency is preferred

¢.  Sector probe is preferred

d. 3-5 MHz frequency is preferred

Answer options :

(1) Onlyaandd (2) Onlycandd

(3) Onlyaandb (4) None of the above
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31.  The hormones responsible for relaxation of pelvic ligaments and cervix at parturition
is/are

a. Gonadotrophic hormones

b.  Progesterone

¢.  Corticosteroids

d. Relaxin and oestrogen

Answer options : |

(1) Onlyaandec (2) Onlyd
(3) Onlyaandd (4) Onlyc

32.  Which of the following cryoprotectants are used in semen freezing ?

a. Glycerol b.  Acetic acid
¢.  Normal saline d. DMSO
Answer options :

(1) Onlybandd ‘ (2) Onlyaandc

(3) Onlyaandd , (4) Onlybandec

33. Match the following pairs :

a. Granulomatous pneumonia 1.~ Sequestra

b. Suppurative bronchopneumonia ii. - Foetalization

¢.  Fibrinous bronchopneumonia 1ii. Epitheloid cells

d. Acute interstitial pneumonia iv. Lobular pneumonia

Answer options:

a b c d
(1) i 1ii 1 iv
(2) i iv i i
(3) iii i iv i
4 1 i i iii

34. A lesion characterized by great thickening of small intestine due to extensive velvet
like necrosis of mucosal lining in bird is

(1) Ulecerative enteritis (2) Necrotic enteritis

(3) Coccidiosis {4) Tuberculosis

HESYT HETHIS SN / SPACE FOR ROUGH WORK P.T.O.
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35. Four Eimeria spp. viz.
a. Eimeria tenella, b. Eimeria necatrix,
¢c. Eimeria acervulinag, and d. Eimeria brunetti,

are responsible for clinical coccidiosis in poultry, each one of which causes lesions
specifically in different part of intestinal tract. Arrange the above listed species on
the basis of lesions caused by them in the intestinal tract starting from duodenum to
rectum.

Answer options:
(1) b,c,aandd (2) c,d,aandb
(3) d,b,aandc (4) c¢,b,aandd

36.  Which of the following parasitic infections are sexually transmitted ?
a. Toxoplasma gondii b.  Trypanosoma equiperdum
¢.  Sarcocystis fusiformis d. Tritrichomonas foetus
Answer options:
(1) Onlyaandb (2) Onlybandd
(3) Onlyaandd (4) Onlyaandc

37. Read the following sentences and choose the most appropriate answer from the
options given below :

Mastitis Streptococci include S. agalactiae, S. dysgalactiae and S. uberis.
S. agalactiae produces beta hemolysis on blood agar.
* ¢.  Hoti and Miller’s test is used for the detection of S. agalactiae.
d. S. dysgalactiae shows wide zone of beta hemolysis in CAMP test.

e. In direct smears of milk sediment Streptococci appear as gram-positive cocci in
clusters.

Answer options :

(1) All of the above statements are true

(2) a,bandcaretrue, but d and e are not true
(3) None of the above statements are true

(4) a and b are true, but ¢, d and e are not true

FERT SIS ST / SPACE FOR ROUGH WORK
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38. The vaccination failure coulci be attributed to the following factors :
a. Inherent characteristics of vaccine.
b.  Problems with reconstitution and administration.
c.  Possibility of animals incubating the disease at the time of vaccination.
d.  Opsonization of live viral vaccines by circulating antibodies.
Which of the above statements are correct 7
(1) Onlya,bandc (2} Onlyb,candd
(3) Onlya,bandd (4) Onlya,candd
39.  The two statements are related to the diagnosis of Leptospirosis.
a. Leptospira organisms are detected in the blood during first week of infection. |
b. The urine examination is carried out for detecting Leptospira infection after
first two weeks of infection.
Choose the most correct answer from the options given below :
(1) Both the statements are correct
(2) Both the statements are incorrect
(3) Only statement a is correct and statement b is incorrect
(4) Only statement b is correct and statement a is incorrect
40. If the journey of drug from its extravascular site of administration across various
lipoidal membrane barriers is to be illustrated, in biological fluids, which of the
following will be the correct order ?
(1) Interstitial fluid - Plasma - Interstitial fluid — Intracellular fluid —
Intraorganelle fluid '
(2) Plasma — Interstitial fluid - Intraorganelle fluid - Interstitial fluid -
Intracellular fluid
(3) Intracellular fluid - Interstitial fluid — Plasma - Intraorganelle fluid -
Interstitial fluid
(4) Plasma - Interstitial fluid - Intracellular fluid — Interstitial fluid -
Intraorganelle fluid
41.  Which of the following anaesthetics increases intracranial pressure ?

(1) Propofol (2) Ketamine
(3) Etomidate (4) Thiopentone

oET HIHTS! SR / SPACE FOR ROUGH WORK P.T.O.
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42,  Which of the following properties are desirable for the intramammary antibiotic
formulation used for the treatment of acute mastitis ?

(1)
(2)
(3)
(4)

Low degree of binding to milk, Chemically a weak base, Bacteriostatic
High degree of binding to udder tissue, Chemically a weak acid, Bactericidal
Low degree of binding to milk, Chemically a weak base, Bactericidal

Low degree of binding to milk, Chemically a weak acid, Bacteriostatic

43.  Which of the following ectoparasiticides induces CNS depression ?

(1)
(2)
(3)
(4)

Fipronil
Imidacloprid
Cypermethrin
Amitraz

44, Match the following pairs :

Cigar tail and hoof deformities i,  Fluorosis
Haemolytic crisis in sheep ii. . Copper poisoning
Rice bran diarrhoea with iti. Arsenical toxicity

mucosal shreads in faeces

Mottled teeth and shifting, iv. Selenosis

diagonal lameness

Answer options :

(1)
(2)
(3)
(4)

a b c d

iv i iii i

i iii ii iv
iv 1 i 1ii
iv 1 iii il
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45. Paneer prepared from buffalo milk is characterised by
a. It is white in colour, sweetish and spongy.
b. It is very compact, fragile.
¢. It has nutty flavour and close knit texture.
d. Ttis high in protein.
Answer options :
(1) a,b,candd (2) Onlya,bandd
(3) Onlya bandec (4) Onlya,candd
46.  As per the Food Safety and Standards Regulations (2011), the skimmed milk powder
must possess the following minimum standards :
a. Not more than 5% moisture
b. Not more than 1-5% fat (m/m)
¢. Not less than 34% milk protein in milk solids not fat (m/m)
Answef options :
(1) Onlya ' (2) Onlyaandc
(3) Onlybandc , (4) a,bandc
47.

Match the following pair of scalding methods with required temperature in poultry :

A B
a. Hard scalding i. 50 -555°C
b. Sub-scalding . 52-55°C
¢. Semi-scalding iii. 58-60°C
d. Soft scalding iv. 82-86°C

Answer options :

a b c d
(1) iv 1i1 ii i
(2) i ii iii iv
(3) ii i iv 1ii
(4) iii v ii i

FTEqT HTTA! WINT / SPACE FOR ROUGH WORK P.T.O.
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48. On daily basis, M/s. ABC Foods Ltd. is engaged in preparation, packaging and
retailing of dairy products. As a package of practices, the company routinely
undertakes fumigation of the premises using approved chemicals. In May, 2019, the
Food Safety Officer during routine inspection and laboratory analysis found that the
paneer samples contained traces of insecticides in excess of permitted limits. State
the most appropriate act/s prevalent in the Country/State under which legal action
can be initiated against the company.
‘a. The Prevention of Food Adulteration Act, 1954 (37 of 1954)
b. The Food Safety and Standards Act, 2006
¢. The Insecticides Act, 1968 (46 of 1968)
d. The Drug and Cosmetics Act, 1940
Answer options :
(1) Onlyb (2) Onlyaandb (3) Onlybandc (4) All ofthe above
49.  Which of the following insect vectors is frue reservoir of Scrub Typhus ?
(1) Trombiculid mites from rats (2) Xenopsylla cheopis fleas
(3) Glossina flies (4) All of the above
50. Generally a “stamping out” (culling) policy is used in India to eradicate the following
disease as per OIE/WAHO guidelines : ’
(1) Foot and mouth disease (2) Swine erysipelas
(3) Avian influenza (4) Anthrax
51. The tripartite accord on “One health” by FAO, WHO and OIE/WAHO formed in

2010, have chosen the following as priority topics for their joint action :

(1) Anthrax, zoonotic influenza viruses and bovine spongiform encephalopathy
(2) Anthrax, zoonotic influenza viruses and foodborne illnesses

(3) Rabies, foodborne illnesses and antimicrobial resistance

(4) Rabies, zoonotic influenza viruses and antimicrobial resistance

THoeq] HTTATSE ST / SPACE FOR ROUGH WORK
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52. = The descriptive epidemiological study
a. Provides data regarding magnitude of disease
b.  Provides clues to disease aetiology
c.  Provides background data for planning and organizing preventive and curative
services : ‘
~d. Describes variation in disease based on time, place and person
Answer options :
(1) Bothaandb (2) Onlyb
(3) Bothaandc (4) All of the above
53. Communication between third and foﬁh ventricle of the brain is called
(1) Foramina Ovale (2) Aqueduct of Sylvius
(3) Foramina Monro (4) Foramina Winslow
54.  Adult functional kidney of mammal is
(1) Pronephric | (2) Mesonephric
(3) Metanephric (4) _Epinephric
55. The sarcomere in the skeletal muscle extend between
(1) Two T bands (2) Two ‘A’ bands
(3) Two ‘Z’ bands (4) Two ‘H bands
56.  False cerebri lies between
(1) Cerebrum and cerebellum (2) Cerebral hemisphere
(3) Cerebellum and pons {4) None of the above
57.  The lining epithelium of the trachea is with goblet cell.
(1) Stratified squamous (2) Transitional
(3) Simple columnar (4) Pseudistratified columnar

THEEYT BETHTS! ST / SPACE FOR ROUGH WORK P.T.O.
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58. Hpyena disease of cattle in young calves is caused by administration of large amount
of
(1) Vitamin D (2) Vitamin A (3) Vitamin C (4) Vitamin E
69.  Anticodon is present on
(1) mRNA (2) tRNA (3) DNA - (4) Chromosome
60. The term “free fatty acid” refers to fatty acids that are in the
(1) Unesteriﬁed state (2) Esterified state
(3) Bind state (4) All of the above
61. Glycogenesis occurs mainly in
(1) Spleen and Heart (2) Muscle and Liver
(3) Kidney and Spleen (4) Intestine and Gall bladder
62. The normal pacemaker of the heart is located in the
(1) Left atrium (2) Right ventricle
(3) Left ventricle (4) Right atrium
63. Tendency of people to consider their own culture of high value and superior to other
is
(1) Ethnocentrism (2) Cultural lag
(3) Norms (4) Values
64. Which of the following group of mutually dependent people live in more or less
compact continuous geographical area, share common values and have a sense of
belonging to the group ?
(1) Society (2) Community
(3) Institution (4) Organization
65.  Steps of Extension Teaching is indicated by letters of the word AIDCAS, in this word

‘T’ stands for :
(1) Interest (2) Improvement

(3) Integrity (4) Immune

THoeT SIS TR / SPACE FOR ROUGH WORK
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The foremost step of Extension Programme Planning is
(1) Identification of problem (2) Collection of facts
(3) Analysis of situation (4) Determination of objectives

67.

The rate of learning in adults is largely determined by
(1) Age (2) Sex (3) Literacy (4) Motivation

68.

Which of the following statements about interpersonal channels of communication
are true ?

a. Interpersonal channels are most effective to reach a large audience.
b. Feedback is readily available in interpersonal channels.

¢. Interpersonal channels are most efficient for bringing about attitudinal
changes.

d. Interpersonal channels involves a face-to-face interaction between source and

receiver.

Answer options :
(1) Onlyaande (2) Onlybandd
(3) Onlya,bandd (4) Onlyb,¢andd

69.

Match the following breeds of sheep with their wool qualities :

a. Bhakarwal i.  Very coarse wool
b. Magra ii. Mixed wool

¢. Deccani iii. Carpet wool

d. Ganjam iv. Hairy coat
Answer options :

a b c d

(1) i ii iil iv
(2) iv 1ii ii i
(@) iii ii v 1
4) i iii iv i
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70.  Consider the following statements :
a. The distance or gap of three fingers between two pubic bones in laying bird
indicates good layer, :
b. The distance close together (1 or 2 fingers) between pubic bones in non-laying
bird indicates poor layer. ’

Answer options :

(1) Statement a is true, but statement b is false
(2) | Statement a is false, but statement b is true
(3) Statements a and b are true

(4) Statements a and b are false

71.  Which of the following is/are the way/s to prevent piglet anaemia in newborn
piglets ? ‘
a. Giving injections of iron to newborn piglets.
b. Adding mineral mixture to their ration.
c.  Painting the udder of sow with thick solution of copper and iron sulphate.
d. Allowing the newborn piglets to access soil.

Answer options :
(1) Onlya (2) Onlyaandb (3) Onlyb,candd(4) a,b,candd

72.  Which of the following is correct for recently developed ‘Sona ray’ device used for
estimation in pigs ?
a. Back fat thickness
b. X-ray of internal organs
c.  Ultrasonography or endoscopy
d. Loin eye area
Answer options :
(1) Onlyaandb (2) Onlycandd (3) Onlyaandc (4) Onlyaandd

78. The process by which carbon sinks remove carbon dioxide (CO,) from the
atmosphere is known as carbon sequestration. The main natural sinks are
a.  Absorption of CO, by the oceans via physico-chemical and biological processes.
b.  Photosynthesis by terrestrial plants.
c.  Landfills.
d. Carbon capture and storage proposals.
Which of the statements given above is/are correct ?

(1) Onlya (2) Onlyb (3) Onlyaandb (4) Onlycandd

ST HETHIS! 9T / SPACE FOR ROUGH WORK
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74.  Match the following pair of nutrients (A) with their deficiency symptoms (B) :

(A) (B)
a. Riboflavin i.  Polyneuritis
b. VitaminE . ii. Encephalomalacia
c. Pantothenic acid  iii. Dermatitis '
d. Thiamine iv, Curled toe paralysis

Answer options :
a b c d

(1) i il v iii
(2) iii iv ii i
(3) 1iv i iii 1
4) 1iv il 1 i1

75.  The shearing of sheep should net be carried out in either too hot or too cold weather
because

a. The quality of wool is poor in too hot or teo cold weather.
b. Fleece protects sheep from too hot or too cold weather.

c. Wool yield is very less during this season.

Which of the above statements is/are correct ?

(1) Onlya

(2) Onlyaandb
(3) Onlyb

(4) a,bandc

76. The difference of mean phenotypic value between the offspring of the selected
parents and the whole of the parental generation before

(1) Selection differential
(2) Response to selection
(3) Phenotypic average
(4) Genetic gain

7. The index selection is efficient over other methods of selection because it takes
account of )

(1) Heritability of traits

(2) Relative economic weights of traits

(3) Genetic and phenotypic variances and covariance of all traits
(4) All of the above

FoelT HETHIS SIFT / SPACE FOR ROUGH WORK P.T.O.
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78.  Match the following diploid numbers of chromosomes with their species :
a. Goat i. 78
b. Sheep ii. 54
¢.  Horse iii. 60
d. Poultry iv. 64
Answer options :
a b c d
1) i ii iii iv
(2) ii iii iv i
(3) i ii iv i
(4) 1iii ii i iv
79. Measures of the correlation between the repeated measurements of the same
individual is known as
(1) Repeatability |
(2) Phenotypic correlation
(3) Genetic correlation
(4) Heritability
80. The Germplasm theory was proposed by
(1) T.H. Morgan (2) Jan Swammerdam
(3) August Weismann (4) Wilhelm Johannsen
If crossing over takes place in linked genes, the proportion of new/recombinant

81.

offsprings population is
(1) More than 50 percent
(2) Less than 50 percent
(3) Less than 25 percent
(4) None of the above
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82.  Match the following accepted names of vitamins (use correct code) :
List 1 —Vitamins - List 2 — Accepted names

a. Vitamin B, i.  Pteroylmonoglutamic acid

b. Vitamin E ii. Thiamin

¢.  Vitamin By iii. D-alpha-tocopherol

d. Folic acid iv. Pyridoxine

Answer options:

a b c d

(1) i iii v i

(2) iii iv i ii

3) i il iii iv

4) iv i ii iii
83. Read the following statements :

a. Energy is the most important nutrient to produce milk.

b. The energy needed depends upon the composition of milk.

Now state whether :

(1) Both the statements are correct

(2) Statement a is correct, but statement b is not correct

(3) Statement b is correct, but statement a is not correct

(4) Neither of the statements is correct
84.  Choose the correct range.

In wet processing method, the reconstitution of grains is done to raise moisture

level to

(1) 35-40% (2) 25-30% 3) 15-20% T4 12-15%
85. Inclusion of Guar meal in poultry diet at higher level depresses the growth because

it contains

(1) Saponin - (2) Cynogenetic compound

(3) Galactomannan (4) Tannin
86. Which of the following animals have a complex stomach with three chambers ?

(1) Equines (2) Camels (3) Buffaloes (4) Cattles
87. Identify the substances depress protein utilization.

a. Polyphenolic compounds b. Protease inhibitors

¢.  Ozxalicacid d. Phytic acid

Answer options :

(1) Onlya (2) Onlyaandb (3) Onlybande (4) Onlyd
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88.  Which of the following methods of transmission are not observed in spreading
Rabies disease in animals ? '
(1) Bite of infected dog or cat
(2) Bite of infected foxes, skunks, wolves, coyotes, vampires, insectivorous and
fruit eating bats
(3) Ingestion of milk of Rabies suffering animal
(4) Inhalation of virus, among infected insectivorous bats
89. Which of the following statements is incorrect for “Successful use of Bovine
colostrum in cross-species” ?
(1) Bovine colostrum can be used as alternate source of colostral antibody for
rearing goats free of caprine arthritis encephalitis.
(2) Bovine colostrum can be used safely for rearing lambs without any side effects.
(3) Bovine colostrum can provide same protection to newborn foals against
neonatal infection.
(4) Bovine colostrum can be successfully used to improve the survival rate of
hysterectomy produced artificially reared pigs.
90. Lactation tetany commonly occurs in cows turned onto lush pasture due to
in diet.
(1) Deficiency of magnesium
(2) High concentration of potassium
(3} High nitrogen level
(4) All of the above
91.  Deprivation of water without sodium loss is observed in dehydration.
(1) Hypertonic : (2) Isotonic
(3) Hypotonic (4) None of the above
92. Coggins test is used for diagnosis of disease.
(1) South African Horse Sickness (2) Equine Infectious Anaemia
(3} Equine Babesiosis (4) Glanders
Macrocytic hypochromic anaemia is caused by the deficiency of

93.

(1)
(3)

Cobalt (2) Vitamin By,
Folic acid (4) All of the above
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A
. In developing of X-ray film
(1) higher temperature of the developing solution requires lesser developing time
and vice-versa. .
(2) higher temperature of the developing solution requires more developing time
and vice-versa., ,
(3) lower temperature of the developing solution requires lesser time and
_vice-versa. '

(4) temperature of the developing solution will not affect the developing time.

95. Which of the following suture patterns is most appropriate for closure of hollow
visceral organs having serous outer coat ?
(1) Bunnell-Mayer suture
(2) Simple interrupted suture
(3) Horizontal mattress suture
(4) Cushing suture

968. In case of long bone fracture treatment, intramedullary pin fixation gives stability
against which force on bone ?
(1) Bending force (2) Rotational force
(3) Impaction (4) All of the above

97.  Which of the following drugs is used for producing i/v local retrograde analgesia of
extremity ? .
(1) Thiopentene sodium (2) Ketamine hydrochloride
(3) Xylazine hydrechloride (4) " Lignocaine hydrochloride 2%

98,  Which of the following is the common site of occurrence of calculi in urinary tract ?
(1) Posterior to the scrotum in dog
(2) Pre-scrotal in bullock
(3) Post-scrotal distal to sigmoid flexure in bullock
(4) Neck of the bladder in dog

99. The contrast material used for effective radiography of gastro-intestinal tract in
animals is
(1) Barium sulphate/paste (2) Iodine dye preparations
(3) Copper sulphate (4) Magnesium sulphate

100. Indicate which of the following is/are absorbable suture material/s.
a. Linen b. Terelene
c. Collagen d. Vetafil
Answer options:
(1) Onlyaandd (2) Onlyb
(3) Onlyc (4) Onlyd
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Question Number : 1 Question Id : 750782931 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 1 Question Id : 750782931 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Consider the following information.
A. Chief Justice of India N.V. Ramanna retired on 23 August 2022.
B. He was Chief Justice of Andhra Pradesh High Court since 279 September 2013 to
16t February 2014.
Options :

. ‘A’ ls correct but ‘B" wrong



, ‘B'is correct but ‘A" wrong
;3 ‘A’ and ‘B’ both are incorrect

4 ‘A’ and ‘B’ both are correct

Question Number : 2 Question Id : 750782932 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 2 Question Id : 750782932 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Choose the correct option/s.
A. Daniel Medvedev is runnerup of Mens French Open Grandslam Tennis Competition

2021.

B. Emma Raducanu is the winner of Women American Open Grandslam Tennis
Competition 2021.

C. Novac Djokovic has won Wimbledon Men Open Grandslam Tennis Competition
most a time.

D. Barbora Krejelkova is a Canedian woman tennis player.
Options :
1. ‘A’ and ‘B’ are correct
, ‘A','B'and ‘C’ are correct

;. Only ‘B’ is correct

4 All are correct



Question Number : 3 Question Id : 750782933 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 3 Question Id : 750782933 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

In which State is the Palli-Grampanchayat, which is the first carbon-neutral
Grampanchayat in India ?

Options :
1. Kerala

7 Delhi
3 Jammu and Kashmir

4 Punjab

Question Number : 4 Question Id : 750782934 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 4 Question Id : 750782934 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5



E-Amrit portal, launched by Indian Government is related to
Options :

| Export

, Investment

3 Electric Vehicles

4 Electronics

Question Number : 5 Question Id : 750782935 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 5 Question Id : 750782935 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Which is odd pair about Padmashri Award 2022

Options :

1. Sushri Madhuri Barthwal - Art

, Himmatrao Baviskar - Art

N Shri Pramod Bhagat - Sports

4 Aacharya Chandnaji ~ Social work

Question Number : 6 Question Id : 750782936 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 6 Question Id : 750782936 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Consider the following statements about ‘World Aids Day’.
A. This day is celebrated from 1987.

B. The theme of Aids day 2021 was “End Inequality, End Aids and End the
Pandemic”.
Options :

L ‘A’ is correct but ‘B’ is false

, ‘Alis false but ‘B’ is correct
3. ‘A’ and ‘B’ both are false

4 ‘A’ and ‘B’ both are correct

Question Number : 7 Question Id : 750782937 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

“By Many a Happy Accident : Recollection of a life” a1 q&aeh= T1@ HIvl 3TTad ?

Options :
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Question Number : 7 Question Id : 750782937 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Who wrote the book “By Many a Happy Accident : Recollection of a life” ?



Options :
. S.Y. Qureshi

». Jhumpa Lahiri
3. Salman Khurshid

,. M. Hamid Ansari

Question Number : 8 Question Id : 750782938 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

ST 37 gRen Feee - 2021 S1ea @iete faaFmEn 9= .

&1 @A oied fedd ‘g sae’ A1 GEH TIR shell Bidl.

1 FEATET 113 AT I WA 57.2 TOHE 71 S TIHEE B,
a1 ITEId IIfREdH 77 S41 o8 o 78 A1 TYME gl

g. SNIfaes HHART TS 81 o¥ JoH TUHE Bl

Options :

3 I F faum ST SEd

, 9, & amfor & faum-aUe 3ed
, O, T e g faee st amRa

, e v faem s s

3 oo 9

Question Number : 8 Question Id : 750782938 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Consider the statements regarding Global Food Security Index — 2021.
A. This report was prepared by London based organisation “Economist Impact”.
B. In this report India was at 715t position with 57.2 score, among the list of 113
countries.
C. Inthis list Pakistan was not on the 77! but 78" position.
D. Ireland was on the first position among the global ranking.

Options :
1. Statements ‘A’ and ‘B’ are correct

, Statements ‘A’, ‘B’ and ‘C’ are correct

3 Statements ‘A’, ‘B’ and ‘D’ are correct



4. All statements are correct

Question Number : 9 Question Id : 750782939 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 9 Question Id : 750782939 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

In which State in India the first ever ‘Commercial Space Situational Awareness
Observatory’ is proposed to set up ?

Options :

1. Uttarakhand

5 Manipur

;. Delhi

4 Himachal Pradesh

Question Number : 10 Question Id : 750782940 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 10 Question Id : 750782940 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Which of the following book is not written by Abdul Razak Gurnah winner of the 2021

Nobel prize in Literature ?

Options :
1 The Wild Light

, Memory of Departure

3 Paradise

4 The Last Gift

Question Number : 11 Question Id : 750782941 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 11 Question Id : 750782941 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Which of the following countries have declared to make “Smoke-free” country ?

Options :
1. Finland
) France

3. New Zealand

4. Scotland

Question Number : 12 Question Id : 750782942 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 12 Question Id : 750782942 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Which of the following is not correct about recently demised M. Sarda Menon ?
A. She was known as India’s first woman Psychiatrist.

B. She was conferred with Padmabhushan Award by the Government of India in
1992.

C. She was born in Mangaluru in Karnataka.

D. She had established Schizophrenia Research Foundation (Scarf) in 2010.
Options :
| Statement ‘A’ is incorrect

5 Statement ‘B’ is incorrect

3. Statement ‘'C’ is incorrect

4 Statement ‘D’ is incorrect

Question Number : 13 Question Id : 750782943 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 13 Question Id : 750782943 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Who of the following is the winner of ‘Junior Hockey World Cup 2021’ ?
Options :

, Germany

5 France
;. Argentina

4 Spain

Question Number : 14 Question Id : 750782944 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 14 Question Id : 750782944 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Who presided the ‘Marathi Sahitya Sammelan’ 2020 at Osmanabad ?
Options :

L Aruna Dhere

, Jayant Narlikar

3. Father Fransis Dibrito

4 Dr. Laxmikant Deshmukh



Question Number : 15 Question Id : 750782945 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 15 Question Id : 750782945 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Which is odd pair of the following ?

Organisation Headquarter
A. NATO - Belgrade
B. UN-Women - New York
C. Red-Cross - Geneva
D. OPEC - Vienna
Options :
1. A
». B
3.C
4. D

Question Number : 16 Question Id : 750782946 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 16 Question Id : 750782946 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Wrong Marks : 0.5

Which car company has provided the safest car ‘Quick Reaction Fighting Vehicle
Medium’ to Indian Army ?

Options :
L Suzuki

5 Toyota

3. Tata

4. Mahendra

Question Number : 17 Question Id : 750782947 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0
Wrong Marks : 0.5
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Question Number : 17 Question Id : 750782947 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Match the following and choose the correct code.

(Rivers) (Origin Place)

a. Krishna i. Satpura (Madhya Pradesh)

b. Godavari ii. Aravali (Rajasthan)

c. Sabarmati ii. Mahabaleshwar (Maharashtra)
d. Tapi iv. Triambakeshwar (Maharashtra)
Options :

a b c d
1 i iv i i

a b c d
5 v iii i i

a b c d
5 i iv iii i

a b c d
g | i iii v

Question Number : 18 Question Id : 750782948 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 18 Question Id : 750782948 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Match the following and choose the correct code.
Minister level conferences of WTO

(Conference Venue) (Conference Year)
a. Nairobi i. 2013
b. Geneva ii. 2015
c. Hongkong i. 2022
d. Bali iv. 2005
Options :
a b c d
L iv iii i i
a b c d
5 ii iii iv i
a b c d
5 i ii iv i
a b c d
g | ii il iv

Question Number : 19 Question Id : 750782949 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 19 Question Id : 750782949 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Who among the following is the official brand ambassador for the elimination of
Lymphatic Filariasis in the State of Maharashtra ?

Options :
. Ronit Roy

, Arun Govil
5. Swapnil Joshi

4 Mohit Raina

Question Number : 20 Question Id : 750782950 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 20 Question Id : 750782950 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Consider the following statements about Natural Farming :
a. ltis atype of farming that promotes chemical free agricultural practices.
b. It was introduced by agriculturist Subhash Palekar in 1990.

Which of the statements given above is/are correct ?



Options :
. Onlya

, Onlyb

3 Bothaand b

4 Neither a nor b

Question Number : 21 Question Id : 750782951 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 21 Question Id : 750782951 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
If the Central Public Information Officer fails to give decision on the request for information
within the specified period, which of the following is correct ?

Options :

| He shall be deemed to have refused the request.

, He is required to pay fine and provide the information

The request lapses after the period of 30 days and a fresh request is required to
;. be made.

He shall be deemed to have agreed to honour the request and is bound to give the

,. Information so requested.

Question Number : 22 Question Id : 750782952 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 22 Question Id : 750782952 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

In case of inconsistency in the provisions of the Right to Information Act, 2005 and the
Official Secrets Act, 1923
Options :

. The Right to Information Act, 2005 will be applicable

5 The Official Secrets Act; 1923 will be applicable

;. As per the orders of Hon'ble President, one of these two Acts will be applicable

4 None of these two Acts will be applicable

Question Number : 23 Question Id : 750782953 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 23 Question Id : 750782953 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
As per Section 8 of the Right to Information Act, 2005, which of the following constitute

Exemption from disclosure of information ?
a. Information, disclosure of which will result into defamation of the concerned
department.
b. Information, the disclosure of which would endanger the life of any person.
c. Information, disclosure of which is not considered proper by the respective officer.

d. Information, disclosure of which would cause a breach of parliamentary privileges.
Options :
| aandb

, a and d

; bandd

4 canda

Question Number : 24 Question Id : 750782954 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 24 Question Id : 750782954 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
The Right to Information Act, 2005 has been enacted with objective/s of
a. To stop corruption
b. Toinstill fear and pressure among government servants
c. To establish Central Information Commission
d. To promote transparency in the working of government

Which of the statement/s given above is/are correct ?
Options :
. &c andb

5 b,dandc

, acandd

4 b,danda

Question Number : 25 Question Id : 750782955 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
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Question Number : 25 Question Id : 750782955 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

The Information Officer not required to divulge information in which of the following
cases 7
Options :
Information which has no personal information that would breach the privacy of the
| persons



Information which has been expressly forbidden to be published by any court of
law
2.

Information not available to a person in his fiduciary relationship and which would
;. hot endanger the life or physical safety of any person

Information which would not impede the process of investigation or apprehension
. Or prosecution of offender

Question Number : 26 Question Id : 750782956 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
The renal threshold for glucose in cat is

Options :
| 100 to 320 mg/di

, 120 to 180 mg/dl
5 140 to 200 mg/dl

4 None of the above

Question Number : 26 Question Id : 750782956 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
The renal threshold for glucose in cat is

Options :
. 100 to 320 mg/d|

, 120 to 180 mg/d|
, 140 to 200 mg/di

4 None of the above

Question Number : 27 Question Id : 750782957 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

A high incidence of stillbirths and weak, new born animals is common manifestation of
Options :

1. lodine deficiency

, Vitamin E deficiency



3 Selenium toxicosis

4 Copper deficiency

Question Number : 27 Question Id : 750782957 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

A high incidence of stillbirths and weak, new born animals is common manifestation of
Options :

1. lodine deficiency

, Vitamin E deficiency

3 Selenium toxicosis

4 Copper deficiency

Question Number : 28 Question Id : 750782958 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Hepatogenous photosensitization is caused by the ingestion of
Options :

| Blue-green algae on drinking water

, Lantana camara plant
;. Grass infested with Pithomyces chartarum fungus

4. All of these

Question Number : 28 Question Id : 750782958 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Hepatogenous photosensitization is caused by the ingestion of
Options :

| Blue-green algae on drinking water

, Lantana camara plant
;. Grass infested with Pithomyces chartarum fungus

4. All of these

Question Number : 29 Question Id : 750782959 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5



Canine Parvovirus (CPV) is shed in the faeces of infected dog even after clinical
recovery for a period about
Options :

. 10 days

, 8days
;. 16 days

, 14 days

Question Number : 29 Question Id : 750782959 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Canine Parvovirus (CPV) is shed in the faeces of infected dog even after clinical
recovery for a period about

Options :

, 10 days

, 8 days
5 16 days

4 14 days

Question Number : 30 Question Id : 750782960 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Major pathogen(s) associated with contagious mastitis in bovines include
Options :
| Staphylococcus aureus

, Streptococcus dysgalactiae
5 Escherichia Coli

, Both (1) and (3)

Question Number : 30 Question Id : 750782960 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Major pathogen(s) associated with contagious mastitis in bovines include
Options :
| Staphylococcus aureus

, Streptococcus dysgalactiae



3 Escherichia Coli

, Both (1) and (3)

Question Number : 31 Question Id : 750782961 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

The causative agent of ‘Glanders’ is
Options :

| Burkholderia mallei

, Mycobacterium equi
;. Rhinosporidium equi

4. None of the above

Question Number : 31 Question Id : 750782961 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

The causative agent of ‘Glanders’ is
Options :

| Burkholderia mallei

, Mycobacterium equi
;. Rhinosporidium equi

4. None of the above

Question Number : 32 Question Id : 750782962 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Tarsorrhaphy is recommended in which of the following condition/s ?
a. Corneal irritation due to entropion
b. Intraocular parasite
c. Corneal edema
d. Distichiasis
Options :
, aonly

, @, banddonly

; aandd only



4 b and c only

Question Number : 32 Question Id : 750782962 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Tarsorrhaphy is recommended in which of the following condition/s ?
a. Corneal irritation due to entropion
b. Intraocular parasite
c. Corneal edema
d. Distichiasis
Options :

| aonly

, @, banddonly
; aandd only

4 b and c only

Question Number : 33 Question Id : 750782963 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Which suture material is not absorbed into the bady: tissues ?

Options :
, Kangaroo tendon

, Umbilical tape

; Catgut

4. All of the above

Question Number : 33 Question Id : 750782963 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Which suture material is not absorbed into the body tissues ?
Options :

| Kangaroo tendon

, Umbilical tape

, Catgut

4 All of the above



Question Number : 34 Question Id : 750782964 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Reticular foreign bodies are removed by performing
a. Reticulotomy
b. Omasotomy
c. Abomasotomy
d. Rumenotomy
Options :
1. aanddonly

, aandconly

, @, bandconly

4 donly

Question Number : 34 Question Id : 750782964 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Reticular foreign bodies are removed by performing
a. Reticulotomy
b. Omasotomy
c. Abomasotomy
d. Rumenotomy
Options :
1. aanddonly

, aandc only

; @, bandconly

4, donly

Question Number : 35 Question Id : 750782965 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Match the following :

a. Bucked Knee I. Inflammation of Carpal Joint
b. Hygroma of Carpus Il. Medial Deviation of Carpal Joint
c. Knock Knee Ill. Anterior Deviation of Carpal Joint
d. Popped Knee IV. Synovial Swelling over anterior surface of
Carpal Joint
Options :

a b c d
PO [ V2 R
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Question Number : 35 Question Id : 750782965 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Match the following :

a. Bucked Knee I. Inflammation of Carpal Joint
b. Hygroma of Carpus Il. Medial Deviation of Carpal Joint
c. Knock Knee IIl. Anterior Deviation of Carpal Joint
d. Popped Knee IV. Synovial Swelling over anterior surface of
Carpal Joint
Options :
a b c d
Tl v Il I

a b c d
> M v | ]

L v | 1]

Question Number : 36 Question Id : 750782966 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
The main reducing agent present in developing chemicals used in radiography is

Options :
. Hydroquinone
, Salts of aluminum

3. Sodium thiosulfate

4 None of the above

Question Number : 36 Question Id : 750782966 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0



Wrong Marks : 0.5

The main reducing agent present in developing chemicals used in radiography is
Options :

| Hydroquinone

, Salts of aluminum
3. Sodium thiosulfate

4 None of the above

Question Number : 37 Question Id : 750782967 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
The example of positive contrast media used in contrast radiography is

Options :
L Air

, Oxygen
3. Barium

4 None of the above

Question Number : 37 Question Id : 750782967 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
The example of positive contrast media used in contrast radiography is

Options :
1. Air

, Oxygen
3. Barium

4 None of the above

Question Number : 38 Question Id : 750782968 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
The term “hyperechoic” is used in
a. Ultrasonography
b. Radiography
c. Scintegraphy
d. Fluoroscopy
Options :



1 @aand c only
, aandd only

5 aonly

4 All of these

Question Number : 38 Question Id : 750782968 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
The term “hyperechoic” is used in
a. Ultrasonography
b. Radiography
c. Scintegraphy
d. Fluoroscopy
Options :
1 @aand c only

, aandd only

5 aonly

4 All of these

Question Number : 39 Question Id : 750782969 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Undesired pregnancy in bitches can be prevented by using any one treatment
consisting of
a. Diethyl stilbesterol
b. Estradiol benzoate
c. Estradiol proprionate
d. Estradiol valerate
Options :
| & bandconly

, aand c only
3. None of the above

4. All of the above

Question Number : 39 Question Id : 750782969 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5



Undesired pregnancy in bitches can be prevented by using any one treatment
consisting of
a. Diethyl stilbesterol
b. Estradiol benzoate
c. Estradiol proprionate
d. Estradiol valerate
Options :
. @, bandconly

, aand c only
3. None of the above

4. All of the above

Question Number : 40 Question Id : 750782970 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Match the pairs of following obstetrical conditions and instruments/manoeuvres for
correcting/relieving them.

a. Incomplete cervical dilatation |. Rope truss
b. Prolapse of uterus Il. Wooden plank
c. Torsion of uterus [ll.~Traction
d. Oversize fetus IV. Digital manipulation
Options :
a b c d
LIVl Il I

3.1V I

| I v 1

Question Number : 40 Question Id : 750782970 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Match the pairs of following obstetrical conditions and instruments/manoeuvres for
correcting/relieving them.

a. Incomplete cervical dilatation |. Rope truss

b. Prolapse of uterus Il. Wooden plank

c. Torsion of uterus lll. Traction

d. Oversize fetus IV. Digital manipulation

Options :



L2 | B |

3.1V 1]

4. 1l I v i

Question Number : 41 Question Id : 750782971 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Which of the following is the correct angle for holding the insemination gun at the time
of Al ?
Options :

| 30°
, 60°
3. 90°

4 180°

Question Number : 41 Question Id : 750782971 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Which of the following is the correct angle for holding the insemination gun at the time
of Al ?
Options :

1 80°
, 60°
3. 90°

4 180°

Question Number : 42 Question Id : 750782972 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5



Which of the following tests are associated with evaluation of bull semen quality ?
a. Hypo osmatic stress
b. Alkaline and acid phosphatase
c. Fructolytic index
d. Cervical mucus penetration
Options :
| @aandd only

, @ candd only
;. b and d only

4 All of these

Question Number : 42 Question Id : 750782972 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Which of the following tests are associated with evaluation of bull semen quality ?
a. Hypo osmatic stress
b. Alkaline and acid phosphatase
c. Fructolytic index
d. Cervical mucus penetration
Options :
| @aandd only

, @, candd only
;. b andd only

4 All of these

Question Number : 43 Question Id : 750782973 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
A repeat breeder cow suspected for ovulatory failure can treated with

Gonadotropin releasing hormone
Progesterone
Human chorionic gonadotropin

d. Follicle stimulating hormone
Options :
- a, b and d only

6O o

1

, aand c only

3 @, cand d only



4 banddonly

Question Number : 43 Question Id : 750782973 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
A repeat breeder cow suspected for ovulatory failure can treated with

Gonadotropin releasing hormone
Progesterone
Human chorionic gonadotropin

d. Follicle stimulating hormone
Options :
a, b and d only

O o

1

, aand c only
;3 &, candd only

4 banddonly

Question Number : 44 Question Id : 750782974 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Which of the following statements.are correctin relation to estrous in buffaloes ?
a. Homosexual behaviour is observed only occasionally.
b. Homosexual behaviour is observed most frequently.

c. Frequent urination is observed commonly.
Options :
1. aand c are correct

, band c are correct
3, aand b are correct

4. All are correct

Question Number : 44 Question Id : 750782974 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Which of the following statements are correct in relation to estrous in buffaloes ?
a. Homosexual behaviour is observed only occasionally.
b. Homosexual behaviour is observed most frequently.

c. Frequent urination is observed commonly.
Options :
1. @ and c are correct



, band c are correct
3. aand b are correct

4 All are correct

Question Number : 45 Question Id : 750782975 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Which of the following is the follicular phase refer to the period from antral follicle
formation to

Options :

| Ovulation

, Fertilization
3. Implantation

4 Gestation

Question Number : 45 Question Id : 750782975 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Which of the following is the follicular phase refer to the period from antral follicle
formation to

Options :

1 Ovulation

, Fertilization
3 Implantation

4 Gestation

Question Number : 46 Question Id : 750782976 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Abnormal ventral curvature of spine is called as
Options :

| Kyphosis

, Lordosis

3 Scoliosis

4 Spondylo



Question Number : 46 Question Id : 750782976 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Abnormal ventral curvature of spine is called as
Options :
| Kyphosis

, Lordosis
3. Scoliosis

4 Spondylo

Question Number : 47 Question Id : 750782977 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Which of the following is not a feature of neoplasm ?
Options :

, Pleomorphism

» Anaplasia
;. Mitosis

4 Dysplasia

Question Number : 47 Question Id : 750782977 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Which of the following is not a feature of neoplasm ?
Options :

, Pleomorphism

» Anaplasia
;. Mitosis

4 Dysplasia

Question Number : 48 Question Id : 750782978 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

‘Xenodiagnosis’ can be used for confirmative diagnosis of which of the following
haemoprotozoa ?

Options :

1 Trypanosoma evansi



, Trypanosoma vivax
3. Trypanosoma cruzi

4 Trypanosoma congolense

Question Number : 48 Question Id : 750782978 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

‘Xenodiagnosis’ can be used for confirmative diagnosis of which of the following
haemoprotozoa ?

Options :

1 Trypanosoma evansi

, Trypanosoma vivax
3 Trypanosoma cruzi

4 Trypanosoma congolense

Question Number : 49 Question Id : 750782979 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

The dogs may drag their anus over the ground due to following reasons.
a. Dipylidium caninum infection.
b. Migration of gravid proglottid in perianal region causes irritation.
c. Pruritus ani and impacted anal glands may also be responsible.

Which statement among the above is true ?
Options :
1. a is true but b and c are false

, aand b are true but c is false
3 aandc are true but b is false

4 All are true

Question Number : 49 Question Id : 750782979 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5



The dogs may drag their anus over the ground due to following reasons.
a. Dipylidium caninum infection.
b. Migration of gravid proglottid in perianal region causes irritation.
c. Pruritus ani and impacted anal glands may also be responsible.
Which statement among the above is true ?
Options :
| @is true but b and c are false

, aand b are true but c is false
3 aand c are true but b is false

4. All are true

Question Number : 50 Question Id : 750782980 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

a. The Avian Influenza Virus (AlV) strains containing H5 and H7 are frequently
associated with high mortality.

b. Al virus strains can be isolated in embryonated chicken eggs by allantoic cavity
route and in chicken kidney cell culture.

c. Al virus is an RNA virus belonging to family Orthomyxoviridae.

d. Chickens act as a ‘'mixing vessel' where various strains ofinfluenza virus can come
together, undergo reassortment resulting in generation of new strains.

Which of the statements given above is/are correct ?
Options :

, @and b only

, bandd only
;. a,bandconly

4 b, c and d only

Question Number : 50 Question Id : 750782980 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

a. The Avian Influenza Virus (AlV) strains containing H5 and H7 are frequently
associated with high mortality.

b. Al virus strains can be isolated in embryonated chicken eggs by allantoic cavity
route and in chicken kidney cell culture.

Al virus is an RNA virus belonging to family Orthomyxoviridae.

d. Chickens act as a ‘mixing vessel’ where various strains of influenza virus can come
together, undergo reassortment resulting in generation of new strains.

Which of the statements given above is/are correct ?



Options :

, aandb only

, bandd only
3 a, b and c only

4 b, c and d only

Question Number : 51 Question Id : 750782981 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
a. Brucella organisms possess “A” and “M" surface antigens.

b. In non-pregnant animals, Brucella organisms get localised in lymph nodes.
c. Rev 1 strain is employed in Brucella vaccine used for sheep and goats.
d. Antibiotic therapy is highly effective in treatment of Brucellosis in animals.

Which of the statement(s) given above is/are correct ?
Options :
L abandc

5 &, bandd

;3 b,candd

4 & candd

Question Number : 51 Question Id : 750782981 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
a. Brucella organisms possess “A” and “M" surface antigens.

b. In non-pregnant animals, Brucella organisms get localised in lymph nodes.
c. Rev 1 strain is employed in Brucella vaccine used for sheep and goats.

d. Antibiotic therapy is highly effective in treatment of Brucellosis in animals.
Which of the statement(s) given above is/are correct ?

Options :

L abandc
, a8 bandd
;3 b,candd

4 & candd



Question Number : 52 Question Id : 750782982 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

The type of immunity induced by vaccination is
Options :
1 Natural active immunity

, Artificial active immunity
5 Artificial passive immunity

4 Natural passive immunity

Question Number : 52 Question Id : 750782982 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

The type of immunity induced by vaccination is
Options :
i Natural active immunity

, Artificial active immunity
5 Artificial passive immunity

4, Natural passive immunity

Question Number : 53 Question Id : 750782983 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Which of the following statements is not true ?
Options :

| Basic drugs have longer milk discard times than acidic drugs.

» Lipophilic drugs tend to have shorter milk discard times.
;. Milk discard times are different for different routes of administration of same drug.

4 Milk discard times are different for different species of lactating animals.

Question Number : 53 Question Id : 750782983 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Which of the following statements is not true ?
Options :
| Basic drugs have longer milk discard times than acidic drugs.



» Lipophilic drugs tend to have shorter milk discard times.
;. Milk discard times are different for different routes of administration of same drug.

4. Milk discard times are different for different species of lactating animals.

Question Number : 54 Question Id : 750782984 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Which of the following toxins causes selective blockade of Na* permeability leading to
nerve paralysis ?

Options :

, Bufogenin

, Ciguatoxin

3 Tetrodotoxin

4 Batrachotoxin

Question Number : 54 Question Id : 750782984 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Which of the following toxins-causes selective blockade of Na* permeability leading to
nerve paralysis ?

Options :

, Bufogenin

, Ciguatoxin
3 Tetrodotoxin

4 Batrachotoxin

Question Number : 55 Question Id : 750782985 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
The correct order of toxicity of aflatoxins B,, B,, G, and G, is

Options :
N B;>G,>G;>B,
) G,>B;>G,>B,



Question Number : 55 Question Id : 750782985 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
The correct order of toxicity of aflatoxins By, B,, G, and G, is

Options :
N B;>G,>G,;>B,

5 G,>B;>G,>B,
3 51}61}82}'32

Question Number : 56 Question Id : 750782986 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Which of the following drugs may cause gray baby syndrome ?
Options :

L Erythromycin

», Lincomycin
3 Nalidixic acid

4. Chloramphenicol

Question Number : 56 Question Id : 750782986 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Which of the following drugs may cause gray baby syndrome ?
Options :

1 Erythromycin

» Lincomycin
3 Nalidixic acid

4. Chloramphenicol

Question Number : 57 Question Id : 750782987 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5



Which of the following drugs is antidopaminergic used as an antiemetic ?
Options :
| Metoclopramide

, Ranitidine

;. Apomorphine

4. Ondansetron

Question Number : 57 Question Id : 750782987 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Which of the following drugs is antidopaminergic used as an antiemetic ?
Options :
| Metoclopramide

, Ranitidine

;. Apomorphine

4. Ondansetron

Question Number : 58 Question Id : 750782988 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

The “Designer Egg” is the egg in which the nutrient content has been modified from the
standard egg by using various techniques like

a. By inducing metabolic changes in the hen.

b. By changing the characteristics of membrane transport to facilitate movement of
compounds into the eggs.

c. By manipulating the diet of the hen such that the desired compounds find their way
into the egg.

Which of the following is correct ?
Options :
| @and b only

, bandconly

5 & bandc

4 None

Question Number : 58 Question Id : 750782988 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0



Wrong Marks : 0.5

The “Designer Egg” is the egg in which the nutrient content has been modified from the
standard egg by using various techniques like

a. By inducing metabolic changes in the hen.

b. By changing the characteristics of membrane transport to facilitate movement of
compounds into the eggs.

c. By manipulating the diet of the hen such that the desired compounds find their way
into the egg.
Which of the following is correct ?
Options :
| aand b only

, bandconly

" bandc

4. None

Question Number : 59 Question Id : 750782989 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

The characteristic and eye appealing bright red colour of the surface tissues of freshly
cut meat is due to

a. Oxymyoglobin
b. Oxyhaemoglobin
c. Oxymyoglobin and oxyhaemoglobin
d. None
Which of the following is correct ?
Options :
1. aonly

, bonly

; C only

. d only

Question Number : 59 Question Id : 750782989 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5



The characteristic and eye appealing bright red colour of the surface tissues of freshly
cut meat is due to

a. Oxymyoglobin

b. Oxyhaemoglobin

c. Oxymyoglobin and oxyhaemoglobin

d. None

Which of the following is correct ?
Options :
;. aonly

, bonly

; C only

. d only

Question Number : 60 Question Id : 750782990 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
A good quality paneer is obtained by
a. heating milk to 90° C, cooling to 70° C.
b. heating milk to 100° C, cooling to 30°.C.
c. and acidifying hot milk by adding 10% citric acid solution:
d. and acidifying hot milk by adding 1% citric acid solution.
Which of the statement/s given above is/are correct ?

Options :
1. a andc

, aandd
; bandc

4 bandd

Question Number : 60 Question Id : 750782990 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
A good quality paneer is obtained by
a. heating milk to 90° C, cooling to 70° C.
b. heating milk to 100° C, cooling to 30° C.
c. and acidifying hot milk by adding 10% citric acid solution.
d. and acidifying hot milk by adding 1% citric acid solution.
Which of the statement/s given above is/are correct ?

Options :
1. a andc



, aandd
; bandc

, bandd

Question Number : 61 Question Id : 750782991 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Principles of HACCP are
a. ldentification of potential hazard.
b. ldentification of CCP.
c. Establish corrective action.
Which of the statements given above are correct 7
Options :
| aonly

5 b and c only

; aandc only

4 All are correct

Question Number : 61 Question Id : 750782991 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Principles of HACCP are
a. |dentification of potential hazard.
b. Identification of CCP.
c. Establish corrective action.
Which of the statements given above are correct ?
Options :
| aonly

5 b and c only

, aandc only

4 All are correct

Question Number : 62 Question Id : 750782992 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5



Match the following :

a. Q fever |. In animate substance
b. Sapro zoonoses II. Solium
c. Cyclo zoonoses . M. tuberculosis
d. T.B. IV. Coxiella burnetii
Options :
a b c d
Tl IV 1l |

, v I Il
a b c d
3 IV (|
a b ¢ d
g M Il v

Question Number : 62 Question Id : 750782992 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Match the following :

a. Qfever |.-In animate substance
b. Sapro zoonoses 1. Solium
c. Cyclo zoonoses . M. tuberculosis
d. T.B IV. Coxiella burnetii
Options :
a b c d
il v I

Question Number : 63 Question Id : 750782993 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5



Carcasses are dressed by
a. Booth system.
b. Cradle and semi line system.
c. On rail system.
Which of the statements given above are correct ?
Options :
, aonly

5 b and c only

; a and c only

4 all are correct

Question Number : 63 Question Id : 750782993 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Carcasses are dressed by
a. Booth system.
b. Cradle and semi line system.
c. On rail system.
Which of the statements given above are correct 7
Options :
| aonly

5 b and c only

, aandconly

4 all are correct

Question Number : 64 Question Id : 750782994 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Which of the following statement is not correct during slaughtering and PM Examination
of animals ?
a. Slaughtering is not to be limited to certain specified hours.
b. There should be sufficient time and light.
c. The animal should be blead completely.
d. Veterinarian must be present during PM Examination.
Options :
1. All'are correct

, Only ais correct



3 Only b and c are correct

4. Only c and d are correct

Question Number : 64 Question Id : 750782994 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Which of the following statement is not correct during slaughtering and PM Examination
of animals ?
a. Slaughtering is not to be limited to certain specified hours.
b. There should be sufficient time and light.
c. The animal should be blead completely.
d. Veterinarian must be present during PM Examination.
Options :
1 All are correct

, Only ais correct
3 Only b and ¢ are correct

4 Only c and d are correct

Question Number : 65 Question Id : 750782995 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

If SPC per ml of raw milk is less than two lakhs as prescribed by BIS, the sample of raw
milk is said to be

a. Very good

b. Good

c. Fair

d. Poor
Options :

L a is correct
, bis correct
3 C is correct

4 d is correct

Question Number : 65 Question Id : 750782995 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5



If SPC per ml of raw milk is less than two lakhs as prescribed by BIS, the sample of raw
milk is said to be

a. Very good

b. Good

c. Fair

d. Poor
Options :

L a is correct
, bis correct
3 C is correct

4 d is correct

Question Number : 66 Question Id : 750782996 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
number of carpal bones are present in a fore limb of dog.

Options :
1. 5

2. 6

4. 8

Question Number : 66 Question Id : 750782996 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
number of carpal bones are present in a fore limb of dog.

Options :
1.5

2. 6

4. 8

Question Number : 67 Question Id : 750782997 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Microscopically which polyhedral cells observed between seminiferous tubules found
mainly in mature animal that secrete harmone testosterone ?



Options :
1. Sertoli cells

5 Primary spermatocyte

3 Interstitial cells/Leydig cells

4 Spermatids

Question Number : 67 Question Id : 750782997 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Microscopically which polyhedral cells observed between seminiferous tubules found
mainly in mature animal that secrete harmone testosterone ?

Options :

1. Sertoli cells

5 Primary spermatocyte

3 Interstitial cells/Leydig cells

A Spermatids

Question Number : 68 Question Id : 750782998 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

The roof of the mouth cavity is formed by
Options :
. Hard palate

, Tongue

5 Pharynx

n Mandible

Question Number : 68 Question Id : 750782998 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

The roof of the mouth cavity is formed by
Options :
. Hard palate

, Tongue



;. Pharynx

4 Mandible

Question Number : 69 Question Id : 750782999 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Which structure is situated in right atrial wall of heart close to the opening of cranial
vena cava that regulates the intrinsic rhythmic contraction of cardiac muscles ?

Options :

. A. V. node

» S. A. node

3. A. V. node and S. A. node

4 None of the above

Question Number : 69 Question Id : 750782999 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Which structure is situated in right atrial wall of heart close to the opening of cranial
vena cava that regulates the intrinsic rhythmic contraction of cardiac muscles ?

Options :

1 A. V. node

, S. A. node

3. A. V. node and S. A. node

4 None of the above

Question Number : 70 Question Id : 7507821000 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Five chief lobes of liver is present in
Options :
. Ox

, Horse

3 Dog

4. Fowl



Question Number : 70 Question Id : 7507821000 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Five chief lobes of liver is present in
Options :
1 Ox

». Horse

3 Dog

4. Fowl

Question Number : 71 Question Id : 7507821001 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Factor Xll involved in blood coagulation is also known as
Options :

, Fletcher factor

5 Hageman factor

3. Christmas factor

4 Stuart factor

Question Number : 71 Question Id : 7507821001 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Factor Xll involved in blood coagulation is also known as
Options :

, Fletcher factor

, Hageman factor

;. Christmas factor

4. Stuart factor

Question Number : 72 Question Id : 7507821002 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Which of the following volatile fatty acid is produced when cellulose is major dietary

carbohydrate for cattle ?
Options :



L Acetate
5 Valerate
, Butyrate

4 Propionate

Question Number : 72 Question Id : 7507821002 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Which of the following volatile fatty acid is produced when cellulose is major dietary

carbohydrate for cattle ?
Options :
| Acetate

) Valerate

, Butyrate

, Propionate

Question Number : 73 Question Id : 7507821003 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Variations of the cardiac rhythm from normal sinus rhythm are called as
Options :

| Abnormal automaticity

5 Reentrant excitation
3 Dysrhythmias

4 Ventricular fibrillations

Question Number : 73 Question Id : 7507821003 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Variations of the cardiac rhythm from normal sinus rhythm are called as
Options :

| Abnormal automaticity

5 Reentrant excitation



3 Dysrhythmias

4 Ventricular fibrillations

Question Number : 74 Question Id : 7507821004 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
The Juxtaglomerular Granulosa cells of the afferent arteriole of each glomerulus secrete

the proteolytic enzyme
Options :

1 Renin

, Pepsin
5 Trypsin

.. All of these

Question Number : 74 Question Id : 7507821004 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

The Juxtaglomerular Granulosa cells of the afferent arteriole of each.glomerulus secrete

the proteolytic enzyme
Options :

1 Renin

, Pepsin
N Trypsin
4 All of these

Question Number : 75 Question Id : 7507821005 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Which of the following is neutral lipids ?
Options :
. Triacylglycerols

, Phospholipids

;. Glycolipids

4 Archaebacterial ether lipids



Question Number : 75 Question Id : 7507821005 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0
Wrong Marks : 0.5

Which of the following is neutral lipids ?
Options :
| Triacylglycerols

5 Phospholipids

;. Glycolipids

4 Archaebacterial ether lipids

Question Number : 76 Question Id : 7507821006 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0
Wrong Marks : 0.5

A large group is divided into smaller ones and a topic is discussed within a limited
period of time

Options :
| Symposium
) Buzz session

3 Conference

. Colloquy

Question Number : 76 Question Id : 7507821006 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

A large group is divided into smaller ones and a topic is discussed within a limited
period of time

Options :
| Symposium
, Buzz session

3 Conference

. Colloquy

Question Number : 77 Question Id : 7507821007 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time



: N.A Minimum Instruction Time : 0
Wrong Marks : 0.5

Gurgaon Project in Haryana was started by

Options :
. S. K. Dey

, F. L. Brayne

3. M. K. Gandhi

4 B. N. Gupta

Question Number : 77 Question Id : 7507821007 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Gurgaon Project in Haryana was started by
Options :

. S. K. Dey

, F.L.Brayne

3 M. K. Gandhi

4 B. N. Gupta

Question Number : 78 Question Id : 7507821008 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Which among the following is not a principle of extension ?
Options :

, Principle of needs and interests

) Principle of cultural difference
5 Principle of rigidity

4. Principle of satisfaction

Question Number : 78 Question Id : 7507821008 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Which among the following is not a principle of extension ?
Options :

, Principle of needs and interests



5 Principle of cultural difference
;. Principle of rigidity

4 Principle of satisfaction

Question Number : 79 Question Id : 7507821009 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

is a society of key stakeholders involved in agricultural activities for
sustainable agricultural development in the district.

Options :

.. Training and Visit (T & V)

, Client Based Extension (CBE)
;. Agricultural Technology Management Agency (ATMA)

4 Integrated Project Approach (IPA)

Question Number : 79 Question Id : 7507821009 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

is a society of key stakeholders involved in agricultural activities for
sustainable agricultural development in the district.

Options :

, Training and Visit (T & V)

, Client Based Extension (CBE)
;. Agricultural Technology Management Agency (ATMA)

A Integrated Project Approach (IPA)

Question Number : 80 Question Id : 7507821010 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

The main objective(s) of Marthandam Project were development.
Options :

1. Mental

, Spiritual and Physical

3 Economical and Social Development



n All of these

Question Number : 80 Question Id : 7507821010 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

The main objective(s) of Marthandam Project were development.
Options :
1. Mental

, Spiritual and Physical

3 Economical and Social Development

4 All of these

Question Number : 81 Question Id : 7507821011 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
is the degree to which pairs of individuals who interact are similar in
certain attributes like belief, education, social status and values.
Options :
L Homophily

5 Innovators
5 Heterophily

4. Communication Channels

Question Number : 81 Question Id : 7507821011 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
is the degree to which pairs of individuals who interact are similar in

certain attributes like belief, education, social status and values.
Options :

.. Homophily

, Innovators

5 Heterophily

4. Communication Channels

Question Number : 82 Question Id : 7507821012 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time



: N.A Minimum Instruction Time : 0
Wrong Marks : 0.5

The number of eggs laid by hen on consecutive days without gap is called as
Options :

1 Pause

, Persistency

3. Clutch

4 None of above

Question Number : 82 Question Id : 7507821012 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
The number of eggs laid by hen on consecutive days without gap is called as
Options :

1 Pause

, Persistency

3. Clutch

4 None of above

Question Number : 83 Question Id : 7507821013 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Match the species of poultry with their zoological names.

a. Fowl |. Gallus domesticus

b. Turkey Il. Anas platysynchos

c. Duck lll. Meleagris gallopavo

d. J.Quail IV. Coturnix coturnix japonica
Options :

a b c d
| Il 1l v

a b c d

| 1] I v



al 1] v I

Question Number : 83 Question Id : 7507821013 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Match the species of poultry with their zoological names.

a. Fowl |. Gallus domesticus
b. Turkey Il. Anas platysynchos
c. Duck lll. Meleagris gallopavo
d. J.Quail IV. Coturnix coturnix japonica
Options :
a b c d
I Il 1l v

a b c d
I 11 I v

4 Ml 1] v I

Question Number : 84 Question Id : 7507821014 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Match the breeds of chicken with their classes and select correct option.

Breeds of Chicken Classes

a. Leghorn I. English class

b. Orpington Il. Mediterranean class

c. New Hampshire Ill. Asiatic class

d. Brahma IV. American class
Options :

a b c d
1| Il I v



Ml [ AV

Question Number : 84 Question Id : 7507821014 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Match the breeds of chicken with their classes and select correct option.

Breeds of Chicken Classes

a. Leghorn I. English class

b. Orpington Il. Mediterranean class

c. New Hampshire Il. Asiatic class

d. Brahma IV. American class
Options :

a b c d
1| Il Il IV

Question Number : 85 Question Id : 7507821015 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Match the parts of oviduct with approximate time taken for developing egg to pass
through it.

a. Infundibulum I. 21 hours
b. Magnum II. 1 hour and 15 minutes
c. Isthmus Il. 3 hours
d. Uterus IV. 15 minutes
Options :
a b [ d
L Il 11 v

a b c d
5 Ml 11 v I



Question Number : 85 Question Id : 7507821015 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Match the parts of oviduct with approximate time taken for developing egg to pass
through it.

a. Infundibulum l. 21 hours
b. Magnum II. 1 hour and 15 minutes
c. Isthmus Il. 3 hours
d. Uterus IV. 15 minutes
Options :
a b c d
1| Il 1 v
a b c d
5 i 11 v I

Question Number : 86 Question Id : 7507821016 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

As recommended by BIS (2007), metabolizable energy and crude protein content in
broiler pre-starter feed should be

Options :

;3000 Kcal/Kg, 20%

, 3000 Kcal/Kg, 23%
5. 3200 Keal/Kg, 20%

4 3200 Kcal/Kg, 23%

Question Number : 86 Question Id : 7507821016 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

As recommended by BIS (2007), metabolizable energy and crude protein content in
broiler pre-starter feed should be



Options :
| 3000 Kcal/Kg, 20%

, 3000 Kcal/Kg, 23%
;. 3200 Keal/Kg, 20%

4, 3200 Kcal/Kg, 23%

Question Number : 87 Question Id : 7507821017 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

For optimum hatchability, the carbon dioxide (CO,) concentration in incubator should
not exceed more than

Options :

1. 0.5%

, 1.5%
3. 2%

4 25%

Question Number : 87 Question Id : 7507821017 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

For optimum hatchability, the carbon dioxide (CO,) concentration in incubator should
not exceed more than

Options :

1. 0.5%

, 1.5%
3. 2%

4 25%

Question Number : 88 Question Id : 7507821018 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Arrange the following body parts in order of disappearance of yellow pigment when
pullet starts laying eggs

a. Beak

b. Eye ring and ear lobes
c. Vent

d. Shank



Options :
1 ¢ Dbad

>, ab,cd

N b,cd a

4 d,c b, a

Question Number : 88 Question Id : 7507821018 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Arrange the following body parts in order of disappearance of yellow pigment when
pullet starts laying eggs
a. Beak
b. Eye ring and ear lobes
c. Vent
d. Shank
Options :
1. G Dbad

> abecd

N b,c,d, a

4 d,cb,a

Question Number : 89 Question Id : 7507821019 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Match the following theories with the scientist.

a. Germ plasm Theory i. Hugo Devries
b. Mutation Theory ii. Charles Darwin
c. Theory of evolution iii. August Weismann
d. Preformation Theory iv. Jan Swammerdam
Options :
a b ¢ d
Lt i i v

a b ¢ d



Question Number : 89 Question Id : 7507821019 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Match the following theories with the scientist.
a. Germ plasm Theory i. Hugo Devries
b. Mutation Theory ii. Charles Darwin
c. Theory of evolution ii. August Weismann

d. Preformation Theory iv. Jan Swammerdam
Options :

a b ¢ d
LU i v

Question Number : 90 Question Id : 7507821020 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Match the pair.

a. Monosomic L 2n—1
b. Triosomic i. 2n+ 1
c. Tetrasomic iii. 2n—-2
d. Nullosomic iv. 2n+ 2
Options :
a b ¢ d
i v i i

Question Number : 90 Question Id : 7507821020 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time



: N.A Minimum Instruction Time : 0
Wrong Marks : 0.5

Match the pair.

a. Monosomic i 2n-1
b. Triosomic i, 2n+ 1
c. Tetrasomic iii. 2n—-2
d. Nullosomic iv. 2n+2
Options :
a b ¢ d
i v i i

S T T VAR

Question Number : 91 Question Id : 7507821021 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Reciprocal recurrent selectionis used to improve
Options :
: Only general combining ability

5 Only specific combining ability
;. Above both

4 None of above

Question Number : 91 Question Id : 7507821021 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Reciprocal recurrent selection is used to improve
Options :
: Only general combining ability

5 Only specific combining ability
;. Above both

4 None of above



Question Number : 92 Question Id : 7507821022 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Selection criteria is called as selection when the individual's own
record is included to estimate the family mean but the selection criteria is called as

selection when the individual's own record is not included in estimating
the family mean.
Options :
. Sib, family

, Family, sib
3 Individual, sib

4. Individual, family

Question Number : 92 Question Id : 7507821022 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Selection criteria is called as selection when the individual's own
record is included to estimate the family mean but the selection criteria is called as

selection when the individual's.own record is not included in estimating
the family mean.
Options :
.. Sib, family

5 Family, sib
3 Individual, sib

4 Individual, family

Question Number : 93 Question Id : 7507821023 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Whenever over 50 percent of gametes produced contain parental combination and less
than 50 percent of the gametes contain recombinant combination, then it is the case of

Options :
1 Multiple Allele
) Linkage

, Lethal gene



A Epistasis

Question Number : 93 Question Id : 7507821023 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Whenever over 50 percent of gametes produced contain parental combination and less

than 50 percent of the gametes contain recombinant combination, then it is the case of
Options :
1 Multiple Allele

5 Linkage
5 Lethal gene

4 Epistasis

Question Number : 94 Question Id : 7507821024 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
The causes which are responsible for the genetic correlation between two characters are
Options :

. Pleotrophy and linkage between-genes

, Dominance and lethal genes
; Heterosis and pleotrophy

4 Linkage and multiple alleles

Question Number : 94 Question Id : 7507821024 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
The causes which are responsible for the geneﬁc correlation between two characters are
Options :

. Pleotrophy and linkage between genes

, Dominance and lethal genes

;. Heterosis and pleotrophy

4 Linkage and multiple alleles

Question Number : 95 Question Id : 7507821025 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0



Wrong Marks : 0.5
Offering high energy feeds to female animals just before and during breeding season

is termed as
Options :
. Steaming up

5 Flushing

3 Leaching

A Grading up

Question Number : 95 Question Id : 7507821025 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Offering high energy feeds to female animals just before and during breeding season

is termed as
Options :
. Steaming up

5 Flushing
3 Leaching

A Grading up

Question Number : 96 Question Id : 7507821026 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
The term TDN is used to indicate of feed for ruminant animals.

Options :
. Digestibility

, Energy value

3 Inorganic matter

4 True protein content

Question Number : 96 Question Id : 7507821026 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
The term TDN is used to indicate of feed for ruminant animals.

Options :



| Digestibility
, Energy value

, Inorganic matter

4. True protein content

Question Number : 97 Question Id : 7507821027 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Which are the substances reducing solubility or interfering utilization of minerals ?
a. Lectins
b. Oxalic acid
c. Phytic acid
d. Trypsin
Options :
, aonly

, aandb only
;. bandconly

4 C and d only

Question Number : 97 Question Id : 7507821027 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Which are the substances reducing solubility or interfering utilization of minerals ?
a. Lectins
b. Oxalic acid
c. Phytic acid
d. Trypsin
Options :
, aonly

, aand b only

;. bandconly

4 C and d only

Question Number : 98 Question Id : 7507821028 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5



Match the following Vitamin with their deficiency symptoms.

a. Thiamine i. Wasting sickness in cattle
b. Pyridoxine ii. Polyneuritis in chicks
c. Cyanocobalamin iii. Goose step in pigs
d. Pantothenic acid iv. Anemia and convulsions in pigs
Options :
a b ¢ d
L v i i

Question Number : 98 Question Id : 7507821028 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5
Match the following Vitamin with their deficiency symptoms.

a. Thiamine i._ Wasting sickness in cattle
b. Pyridoxine ii. Polyneuritis in chicks
c. Cyanocobalamin iii. Goose step in pigs
d. Pantothenic acid iv. Anemia and convulsions in pigs
Options :
a b ¢ d
L v i

Question Number : 99 Question Id : 7507821029 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Which of the following are non-nutritive feed additives ?
a. Antibiotics
b. Antioxidants
c. Enzymes



Options :
| aand b only

, bandconly

3 all above

4. none

Question Number : 99 Question Id : 7507821029 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Which of the following are non-nutritive feed additives ?
a. Antibiotics
b. Antioxidants
c. Enzymes

Options :

. aand b only

, bandconly

3 all above

4. none

Question Number : 100 Question Id : 7507821030 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Wrong Marks : 0.5

Lectins (Haemagglutinins) were first isolated from caster beans, which contains potent
lectin called ricin. Feeding of substrate containing ricin to farm livestock have adverse
effect on

a. Growth and diarrhoea.

b. Decreased nutrient absorption and increased bacterial infection.

c. Immune system.

Which of the statement given above is/are correct ?
Options :
. aonly

, bandconly

, aandconly

4 & bandc

Question Number : 100 Question Id : 7507821030 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0



Wrong Marks : 0.5

Lectins (Haemagglutinins) were first isolated from caster beans, which contains potent
lectin called ricin. Feeding of substrate containing ricin to farm livestock have adverse
effect on

a. Growth and diarrhoea.

b. Decreased nutrient absorption and increased bacterial infection.
c. Immune system.

Which of the statement given above is/are correct ?
Options :
| aonly

, bandc only

; @ and c only

4 & bandc



